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The following table shows the percentage (%) distribution of number of doctors and number of female doctors

working in seven different cities A-G. Number of doctors working in all the seven cities 15 2400 and the ratio
of male to female among them is 5:3. Based on the data in the table, answer the question.

City-wise Distribution of Doctors.

City Distribution (%0)
B Doctors (%) Female Doctors (%)

A 19 24

B 21 16

C 9 11

D 12 8

E 17 16

F 14 19

G 8
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A 19 24
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Number of female doctors 1s more than the average number of female doctors (taking all seven cities together)
in exactly cities.
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1[Option ID=25101] Question Description : general_paper_genarel paper_set 13_english_q1
2[Option ID=25102]




3[Option ID=25103]
4[Option ID=25104]
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The following table shows the percentage (%) distribution of number of doctors and number of female doctors

working in seven different cities A-G. Number of doctors working in all the seven cities 15 2400 and the ratio
of male to ferale among them is 5:3. Based on the data in the table, answer the question.

City-wise Distribution of Doctors.

City Distribution (%0}
i Doctors (%) Female Doctors (%0)

A 19 24

B 21 16

{ 9 11

D 12 8

E 17 16

F 14 19

G 8
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Afea® (o) Higa flibdd (%)
A 19 29
B 21 16
C 9 11
D 12 8
E 17 16
F 14 19
G B 6

In which of the following cities is the number of male doctors less than the number of female doctors?
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(1) 1
(2) 2
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2[Option ID=25106]
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The following table shows the percentage (%) distribution of number of doctors and number of female doctors
working in seven different cities A-G. Number of doctors working in all the seven cities is 2400 and the ratio
of male to female among them is 5:3. Based on the data in the table, answer the question.

City-wise Distribution of Doctors.

City Distribution (%0)
= Doctors (%) Female Doctors (%0)

A 19 24

B 21 16

C 9 11

D 12 8

E 17 16

F 14 19

G 8

6
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TEORUT (%)
Rt R (%) ofgar RifeE® (%)
A 19 24
B 21 16
6 9 El
D 12 g
E 17 16
F 14 19
G 8 ]
In city A, the number of female doctors is % of the number of male doctors.
1.90
2.96
3.64
4. 80
(1) 1
(2) 2
3) 3
(4) 4
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1) 1
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(3) 3
(4) 4

1[Option ID=25109] Question Description : general_paper_genarel paper_set 13_english_q3
2[Option ID=25110]
3[Option ID=25111]
4[Option ID=25112]
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The following table shows the percentage (%) distribution of number of doctors and number of female doctors
working in seven different cities A-G. Number of doctors working in all the seven cities is 2400 and the ratio
of male to female among them is 5:3. Based on the data in the table, answer the question.

City-wise Distribution of Doctors.

City Distribution (%0)
= Doctors (%) Female Doctors (%0)

A 19 24

B 21 16

C 9 11

D 12 8

E 17 16

F 14 19

G 8
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TEORUT (%)
Rt R (%) ofgar RifeE® (%)
A 19 24
B 21 16
g 9 11
D 12 g
E 17 16
F 14 19
G E 6

What 1s the difference between the average number of male doctors of cities A, B and C together and the
average number of male doctors of cities E, F and G together?

.48
50
54
.56
(1) 1
(2) 2
(3) 3
(4) 4
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1. 48
2.50
3. 54
4.36
1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=25113] Question Description : general_paper_genarel paper_set 13_english_q4
2[Option ID=25114]
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The following table shows the percentage (%) distribution of number of doctors and number of female doctors
working in seven different cities A-G. Number of doctors working in all the seven cities is 2400 and the ratio
of male to female among them is 5:3. Based on the data in the table, answer the question.

City-wise Distribution of Doctors.

City Distribution (%0)
= Doctors (%) Female Doctors (%0)

A 19 24

B 21 16

C 9 11

D 12 8

E 17 16

F 14 19

G 8

6
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TEORUT (%)
Rt R (%) ofgar RifeE® (%)
A 19 24
B 21 16
g 9 11
D 12 g
E 17 16
F 14 19
G E 6

What 1s the ratio of the number of female doctors in city D to the number of male doctors in City B?

1.2:5
2 1:5
=35
.47
1) 1
(2) 2
(3) 3
4) 4
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(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=25117] Question Description : general_paper_genarel paper_set 13_english_q5
2[Option ID=25118]

3[Option ID=25119]
4[Option ID=25120]
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Given below are two statements:

Statement-I : In learning, law of multiple response means an individual responds to a new situation on the
basis of the responses made by him in similar situations in the past.

Statement-II: In learning. law of analogy implies when an individual is confronted with a new situation, he
responds in a variety of ways before arriving at the correct response.

In the light of the above statements. choose the correct answer from the options given below:

. Both Statement I and Statement I are true.

. Both Statement I and Statement II are false.
3. Statement I is true but Statement II 1s false.
4, Statement I is false but Statement II is true.

(1) 1
(2) 2
3) 3
(4) 4
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(1) 1
2) 2
(3) 3
(4) 4
1[Option ID=25121] Question Description : general_paper_genarel paper_set 13_english_q6
2[Option ID=25122]

3[Option ID=25123]
4[Option ID=25124]
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In ASSURE model of learning, ABCD stands for well-stated learning objectives. What does 'C’ stands for?

. Conditioner
. Conditions
. Creativity

. Confusion

(1) 1

2) 2

3) 3

(4) 4
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3) 3

(4) 4

1[Option ID=25125] Question Description : general_paper_genarel paper_set 13_english_q7
2[Option ID=25126]

3[Option ID=25127]
4[Option ID=25128]
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The field of study concerned with the construction of thought processes, including remembering, problem
solving and decision-making 1s called:

. Cognitive development
. Pedagogy
3. Epistemology
4. Connectivism
(1) 1
(2) 2
3) 3
(4) 4
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4. HayT
(1) 1
(2) 2
(3) 3
(4) 4
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1[Option ID=25129] Question Description : general_paper_genarel paper_set 13_english_q8
2[Option ID=25130]
3[Option ID=25131]
4[Option ID=25132]
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Given below are two statements:

Statement-I: The current SWAYAM platform has been developed by Ministry of Education and IIT, Delhi.
Statement-1I: SWAYAM is designed to achieve the five cardinal principles of education.

In the light of the above statements, choose the most appropriate answer from the options given below:

1. Both Statement I and Statement II are correct.
2. Both Statement I and Statement IT are incorrect.
3. Statement I is correct but Statement IT is incorrect.
4. Statement I is incorrect but Statement IT is correct.
(1) 1
2) 2
3) 3
(4) 4
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(1) 1
(2) 2
(3) 3
(4) 4
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1[Option ID=25133] Question Description : general_paper_genarel paper_set 13_english_q9
2[Option ID=25134]
3[Option ID=25135]
4[Option ID=25136]

Sl. No.10
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Match List I with List IT :

LISTI

(Channels of SWAYAM (Sub'i::ltf'l(—flo{'ere %
Prabha) 1
" 5 Social Science-3, Management, Library
A Chianael 05 I. |science, Information Sci;nce and relatedd
" PRABODH ’ cHe
subjects.
B Channel 04 : 1 Social science-1. Social and Behavioural
T ISAARASWAT " |sciences
C Channel 05 - I Social science-4, Law, Legal studies,
" PRABANDHAN " |Human rights and related subjects.
D Channel 06 : IV Social science-2, Education, Psychology,
* [VIDHIEK " |Home science and related subjects.

Choose the correct answer from the options given below:

1. A-IL, B-IV, C-1, D-III
2. A-IV, B-I, C-II, D-III
3. A-IV, B-II, C-III, D-I
4. AL, B-IL, C-IV, D-I

(1) 1

() 2

(3) 3

(4) 4




il 1 1Y Gl 11 DT FHeT Bifor -

mﬁé%ﬂm mﬁ@%&m

QIS fARIH-3, Heler,
A [So3: yEY | L gk a9, gaH famE
3R Hag favg

B. [d9d 04- 9Fd 1L emm IW! 'Fﬁméﬁ%
oot fag-4, fafs fafse
C. [94 05: UgYH III.%_?;;FLHFHT%RG?RW
G faRiT-2, F2ra,

D. [ 06: fafére nﬁm%ﬁaﬁ&ﬁim

= feu U foeed! § T Uel SR &1 994 BT

A-II, B-IV, C-1, D-III
A-IV, B-I, C-II, D-III
. A-IV, B-II, C-I11, D-I
. AT, B-IL, C-IV, D-I
(1) 1
(2) 2
3) 3
(4) 4
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1[Option ID=25137] Question Description : general_paper_genarel paper_set 13_english_q10
2[Option ID=25138]
3[Option ID=25139]
4[Option ID=25140]
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One of the commonly used abbreviations in report writing by researchers is 'vide' which means.

. refer to
. example
3. after
4. against

1) 1

(2) 2

3) 3

4) 4
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1[Option ID=25141] Question Description : general_paper_genarel paper_set 13_english_q11
2[Option ID=25142]
3[Option ID=25143]
4[Option ID=25144]
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Given below are two statements:

Statement-I: Non-parametric tests are often more efficient compared to tests of significance or parametric
tests.

Statement-II: Non-parametric tests can be applicable to ordinal or nominal scale data.
In the light of the above statements, choose the correct answer from the options given below:

1. Both Statement I and Statement II are true.
2. Both Statement I and Statement II are false.
3. Statement I is true but Statement II 1s false.
4, Statement I is false but Statement II is true.

(1) 1

2) 2

(3) 3

(4) 4
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1[Option ID=25145] Question Description : general_paper_genarel paper_set 13_english_q12
2[Option ID=25146]

3[Option ID=25147]
4[Option ID=25148]

Sl. No.13
QBID:13201013

Given below are two statements:
Statement-I: Ethical violations occur when researchers engage in plagiarism or falsifying data.

Statement-II: A researcher cannot cite a well known and established fact without providing citation
(reference). otherwise 1t will be termed as unethical.

In the light of the above statements. choose the correct answer from the options given below:

1. Both Statement I and Statement II are true.
2. Both Statement I and Statement IT are false.
3. Statement I is true but Statement II is false.
4. Statement I is false but Statement II 1s true.
(1) 1
(2) 2
3) 3
(4) 4
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1[Option ID=25149] Question Description : general_paper_genarel paper_set 13_english_q13
2[Option ID=25150]

3[Option ID=25151]
4[Option ID=25152]
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An approach to research in which the investigator creates an environment similar to one of interest in order to
study behaviours in a realistic way, refers to:

1. Naturalistic observation
2. Simulation
3. Longitudinal research
4. Correlational research
(1) 1
(2) 2
3) 3
(4) 4
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1[Option ID=25153] Question Description : general_paper_genarel paper_set 13_english_q14
2[Option ID=25154]
3[Option ID=25155]
4[Option ID=25156]
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Identify the rules that you would follow while designing questions for a questionnaire.

A. Avoid ambiguous terms in questions.
B. Avoid long questions.

C. Ask some leading questions.

D. Avoid double-barrelled questions.

E. Avoid very specific questions.

Choose the correct answer from the options given below:

1. A. B and C only
2.B.Cand D only
3.A,Band D only
4.B, Cand E only

(1) 1

(2) 2

(3) 3

(4) 4
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4. %9 B, C IARE

(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=25157] Question Description : general_paper_genarel paper_set 13_english_q15
2[Option ID=25158]
3[Option ID=25159]
4[Option ID=25160]
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The Shannon and Weaver mathematical model of communication was based on a linear system of:

1. Print communication
2. Electronic communication
3. New communication
4. Traditional communication
(1) 1
(2) 2
3) 3
(4) 4
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1. {0 ¥9R
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3. 7 99R
4, R 99R
(1) 1
(2) 2
3) 3




(4) 4

1[Option ID=25161] Question Description : general_paper_genarel paper_set 13_english_q16
2[Option ID=25162]
3[Option ID=25163]
4[Option ID=25164]
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Real time communication media are known as:

1. Vertical media
2. Asynchronous media
3. Synchronous media
4. Grapevine media

1) 1

(2) 2

(3) 3

(4) 4

RO o5y YR 91e0H Hed ¢ :

1. &R T1gH
2. HBICH HIOH
3. THGIAS AT
4, SFATE HTe0q
(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=25165] Question Description : general_paper_genarel paper_set 13_english_q17
2[Option ID=25166]
3[Option ID=25167]
4[Option ID=25168]
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The simplified communication model created by Wilbur Schramm initially had the elements of :

A. An encoding source

B. A noise breaker

C. A noise marker

D. A message for transmission

E. A decoder to decode the message.

Choose the correct answer from the options given below:

.A,B.Conly
.B. C,D only
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1) 1

) 2

3) 3

(4) 4

1[Option ID=25169] Question Description : general_paper_genarel paper_set 13_english_q18
2[Option ID=25170]
3[Option ID=25171]
4[Option ID=25172]
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Which of the following are referred to as net ideologists?

A. Harold Innis

B. Marshall McLuhan
C. Algore

D. Nicholas Negroponte
E. Manuel Castells

Choose the correct answer from the options given below:

A.B. Conly
.B. C.D only
.C,D, E only
.A.D.E only
(1) 1
2) 2
3) 3
(4) 4
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1.BddA A, B, C
2.%4d B, C.D
3.%aAC, D, E
4. PAAA,D.E

(1) 1

() 2

3) 3

(4) 4
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1[Option ID=25173] Question Description : general_paper_genarel paper_set 13_english_q19
2[Option ID=25174]
3[Option ID=25175]
4[Option ID=25176]

Sl. No.20
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Given below are two statements:

Statement-I: New communication media have made the privatization of public spaces possible.
Statement-1I: The above tendency has led to the emergence of cyber sphere in the world.

In the light of the above statements, choose the correct answer from the options given below:

1. Both Statement I and Statement II are true.
2. Both Statement I and Statement IT are false.
3. Statement I is true but Statement II is false.
4. Statement I is false but Statement IT is true.

(1) 1

) 2

3) 3

(4) 4
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(1) 1
(2) 2
(3) 3
(4) 4
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1[Option ID=25177] Question Description : general_paper_genarel paper_set 13_english_q20
2[Option ID=25178]
3[Option ID=25179]
4[Option ID=25180]

Sl. No.21
QBID:13201021

A man lends out an amount of Rs.25.000 into two parts. The first part of the money is lent out at 8% simple
interest and the second part of the money is lent out at 8.5% simple interest. If total annual income of the man
1s Rs.2031.25, then find how much money is lent out at the rate of 8.5% ?

1. Rs. 9,000
2. Rs. 15,000
3.Rs. 18,750
4.Rs. 6,250

1) 1

(2) 2

(3) 3

(4) 4
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1[Option ID=25181] Question Description : general_paper_genarel paper_set 13_english_q21
2[Option ID=25182]
3[Option ID=25183]
4[Option ID=25184]
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In a certain coded language the word MEDICINE is called as: EQOJDJEFM. How the word COMPUTER will
be coded in the same coded language?

1. REVUNQPC
2. RFUVQNPC
3. CPNQVUFR
4, CPQNUVFR

(1) 1

(2) 2

3) 3

(4) 4

fepeit ff2d Peas YT § MEDICINE &1 EOJDIEFM & ¥4 H $eaw [adl ol o | 78 COMPUTER
Y B 34l UBR U Peag DI o arell U H Y Peag fegr s 2

. RFVUNQPC
. RFUVQNPC
. CPNQVUFR
. CPQNUVFR
(1) 1
() 2
(3) 3
(4) 4

R

1[Option ID=25185] Question Description : general_paper_genarel paper_set 13_english_q22
2[Option ID=25186]
3[Option ID=25187]
4[Option ID=25188]

Sl. No.23
QBID:13201023

The sum of first n even natural numbers is 1560. Find the value of n.

Fa L3 b
o o L
oo D D

(1) 1
(2) 2
(3) 3
(4) 4




TUH n TH WIHTA T3 BT TR 1560 § | n BT HM J1d BT |

41
39
40
38

el gt

1) 1

(2) 2

(3) 3

4) 4

1[Option ID=25189] Question Description : general_paper_genarel paper_set 13_english_q23
2[Option ID=25190]

3[Option ID=25191]
4[Option ID=25192]

Sl. No.24
QBID:13201024

In a two digit number, if it is known that the digit at the unit's place in the number exceeds the digit at the ten's
place by 2 and that the product of the given number and the sum of the digits of the number is 280. Find the
number.

24
46
35
53

il el e

(1) 1
(2) 2
(3) 3
(4) 4

for<il &1 i I = 1, afE 9% 14 © [ S8 & M 31 TS01 5ol IF & 3901 9 & S{f® § SR &l
T TEAT SR I W1 & 31 & A1 B B 280 &, 1 a6 ST J1d B |

B e
s
L

.53
(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=25193] Question Description : general_paper_genarel paper_set 13_english_q24
2[Option ID=25194]

3[Option ID=25195]
4[Option ID=25196]

Sl. No.25
QBID:13201025

Sum of the cost price of two articles A and B is Rs.26.000. Both the articles are sold at a profit of 20% and
40%, respectively. However, the selling price of the two articles remains the same. Find the difference in the
cost price of A and B.

.Rs. 2,500
.Rs. 2,000
.Rs. 1,000
.Rs. 3,000
(1) 1
2) 2
3) 3
(4) 4

da s ko




21 I3l A 3R B & AT Hed 1 AT 26000 TUU & | &I a3l Bl SpHRE 20% 3R 40% & a1y UR &1
wﬁ,mﬁﬁmﬁﬁﬁﬁﬂﬂaﬁw% | A 3R B & AT Geu H 3R & 31d PIO |

. 2500 394
. 2000 394
. 1000 394
. 3000 ¥9T
1) 1
(2) 2
(3) 3
(4) 4

da L b2

1[Option ID=25197] Question Description : general_paper_genarel paper_set 13_english_q25
2[Option ID=25198]
3[Option ID=25199]
4[Option ID=25200]

Sl. No.26
QBID:13201026

An informal fallacy where something is assumed as a fact because the contrary of that is not yet proven to be
true is called:

. Begging the question
Appeal to Ignorance

. Complex Question

. Red Herring

(1) 1

(2) 2

3) 3

(4) 4

TS HIGING S, Siel [l il &l U 9 & 39 1 01 ofidl § ddife 39T [dudid 3t ao 98l fag
eI GO §, P! 791 BT TaT & 2

R O

L. HTHTHYAT
2. RIS giad
j.oAdyu¥
4.3 fd (Red Herring)
(1) 1
2) 2
(3) 3
(4) 4
1[Option ID=25201] Question Description : general_paper_genarel paper_set 13_english_q26
2[Option ID=25202]

3[Option ID=25203]
4[Option ID=25204]

Sl. No.27
QBID:13201027

Which of the following propositions are logically equivalent?

A. Some men are arrogant human beings.

B. Some non-arrogant human beings are not non-men.
C. Some men are not non-arrogant human beings.

D. Some arrogant human beings are men.

Choose the most appropriate answer from the options given below:

1. B and D only
2. Aand C only
3.A.Band Conly
4. A, C and D only
(1) 1
2) 2
(3) 3




(4) 4

Fafdied # O ol uidwi difde =9 9 IHga s 2

A TS Y3Y SEPRI G |

B.@mémlﬂ 0 TR-GY 8l ¢ |

C. 7Y R R-IEHN AT TR E |

D. T PRI FTT [0 E |

-2 feu e fawed  § 9ad Iugad I &1 9G] B

1.PIAB AR D
2. FAAARC
3. PITA, B3R C
4. BT A, C AR D

1 1

) 2

(3) 3

(4) 4

1[Option ID=25205] Question Description : general_paper_genarel paper_set 13_english_q27
2[Option ID=25206]
3[Option ID=25207]
4[Option ID=25208]

Sl. No.28
QBID:13201028

If the statement 'some cricketers are fast bowlers' is given as false then which of the following statements
could be immediately inferred to be false?

. All ericketers are fast bowlers.

. No cricketers are fast bowlers.

3. Some cricketers are not fast bowlers.

4. Some non-fast bowlers are not non-cricketers.

(1) 1
(2) 2
(3) 3
(4) 4

afE 59 Y - DS fobebe [AaTS! oo T1edTal o' Pl Tad & &9 § & 71 ¢ ot Fafiiga & 9 oy oA
& TTTd B BT AlebIias =9 I A a1 19 s 2

1. gt fopdpe @St do Tigarsi € |
2. B15 i fpdpe TS a1 Tiga 781 § |
3. 50 fvde faare! o fea e © |
4. 9 RO Tgaml TR-frde faargt 781§ |
1) 1
2) 2
3) 3
4) 4

o —

1[Option ID=25209] Question Description : general_paper_genarel paper_set 13_english_q28
2[Option ID=25210]
3[Option ID=25211]
4[Option ID=25212]

Sl. No.29
QBID:13201029




Which of the following statements are so related that they cannot both be true, although both may be false?

A. All sports persons are athletes.

B. No sports persons are athletes.

C. Some sports persons are athletes.

D. Some sports persons are not athletes.

Choose the most appropriate answer from the options given below:

. A and B only
.C and D only
. A and D only
.B and C only
1) 1
(2) 2
3) 3
(4) 4

frafafad § T HH T $u 39 0ie 96fd & i 3 SFf 9l Tel 8l 9o, gaft -l Tad gl 9dd & 2

A T Sl Tueiied © |

B. @5 HI faars! vudic 7818 |
C. T [Gars uydie § |

D. T8 f@ars! ydie Tei g |

14 feu Tt faeedl § ¥ 9a8 Sugad STk &1 99 BT

1. 33T A IR B
2. %A C IRD
3. Pdd A IRD
4. FFAB AR C

1 1

) 2

3) 3

(4) 4

e

1[Option ID=25213] Question Description : general_paper_genarel paper_set 13_english_q29
2[Option ID=25214]
3[Option ID=25215]
4[Option ID=25216]

Sl. No.30
QBID:13201030

According to classical Indian school of logic (Nydya) which of the following steps of inference (anumana)
corresponds to Upanaya (application of the universal concomitance to the presented case)?

L. Socrates is mortal.
2. Because he is a man.
3. Whoever is a man is a mortal, e.g. Plato.
4. Socrates is a man who is invariably a mortal.
1) 1
(2) 2
(3) 3
4) 4

YR ARA THRIR T (A1) & S8R S0 &1 Hafarad 5 9 148 @R0] 39 (W 6T 1Y
T & Uid Wi geatddl &1 YA & AU 6 2

1. gBAA AR T |

2. I a8 A9 § |

3. W @IE W AT €, T8 TR E, O - el |

4. @RId U H99 3, Ol (RUaE Y ARE |
(1) 1
(2) 2




(3) 3
(4) 4

1[Option ID=25217] Question Description : general_paper_genarel paper_set 13_english_q30
2[Option ID=25218]
3[Option ID=25219]
4[Option ID=25220]

Sl. No.31
QBID:13201031

In ICT. which one of the following pairs of acronyms and its expansion is incompatible?

. .csv - Comma Separated Variables
. .1tf - Rich Text Format

. .pdf - Portable Document Format

. .png - Portable Network Graphics
(1) 1

(2) 2

(3) 3

(4) 4

et ¥, Frafafad # 3 s.ar aikaulf ok 3% fowar S1gm sma g 2

1. .csv- ﬁm@ﬂ@ﬁaﬁﬂaﬁq
2. of - T T BRAE
3. .pdf- ql{w STHAC q:\T{ﬁc
4. png - UICEd ead ATty
1 1
(2) 2
3) 3
) a

T U N g

1[Option ID=25221] Question Description : general_paper_genarel paper_set 13_english_q31
2[Option ID=25222]
3[Option ID=25223]
4[Option ID=25224]

Sl. No.32
QBID:13201032

Identify the correct order of the words A-D given below to complete the following sentences about College
Registration Systems: is a type of registration system that uses finger prints or retina scans to register
students. A type of registration that uses a form that has been completed with a pencil and is then scanned by a
machine after being completed is called registration. A tag that uses microchips and radio signals worn
by all students that registers them when they enter the classroom is called registration. are made
of plastic and contain a chip that can be swiped through a machine to register the student.

A. Smart Cards
B. OMR

C. Biometric
D. RFID

Choose the correct answer from the options given below:
.A.B.D,C

1

2.8,
3.D.A,
4.C.B.

oo S

.D
.B
A




Oelfaena-vsiiad ol & aR § FafiRad $uH @e) &1 gul §34 gq - (3T 70 Wsai A-D & et
Waﬁﬁaﬁa

dﬁmwﬁwww%ﬁﬁﬁﬁ%%ﬂm%@ﬂﬁmﬁmﬂmﬁﬂmﬁﬁw
a1 ¢ | USiiaH &1 U YR fores e Ud B o Suai o wirar ¢ o $Ra @ i sy man giar 8
3R ol 34 S & a1 H1= FR1 0= a1 ST € 98 ToiiT HEaE € | T o forad aft
T GRT TR Ty SiR IS0 Rid & a9 S Yo gidl ¢ S d daT B ufap aid &,
U8 UoimA deddis | WRe® ST a1 oidl & forad U@ g STel T gl & iR ol
faemelf & goiieA oq 1= & mrend 9 Wiy [Sar @1 9@ di ¢ |

A T D18

B. THIAR
C. 9aHice

D. ARUHAS S
i fGu U fadedl & € Hel 3R &1 99+ Bifeiu:

nNowe

WpOow
Popy

el S e
=g n

(1) 1

2) 2

(3) 3

(4) 4

1[Option ID=25225] Question Description : general_paper_genarel paper_set 13_english_q32
2[Option ID=25226]

3[Option ID=25227]
4[Option ID=25228]

Sl. No.33

QBID:13201033
Given below are two statements: (1 KB = 1024 bytes)
Statement-I: 0.2 terabytes (TB) is equal to 204.8 gigabytes (GB)

Statement-II: 1 petabyte (PB) is equal to 2% bits.
In the light of the above statements, choose the correct answer from the options given below:

1. Both Statement I and Statement II are true.
2. Both Statement I and Statement II are false.
3. Statement I is true but Statement II is false.
4. Statement I is false but Statement IT 1s true.

1) 1

(2) 2

3) 3

(4) 4

1 P faU T R: (1 KB = 1024 STEEW)

YT : 0.2 TEEE (C1ah), 204.8 TTETEE (©iiel) & RER ST |

HYTII : 1 Uerarse (didh), 2°% fdey & sRIeR gl ¢ |

SWRIad PYA & el F, 7= {30 MU fapedl & I 98t TR &1 99 Sl
1. BYA 1 3R 11 §HI 9 B

BYA 1 3R 11 FHT S &

3. FYT 1 9T &, A YA 1 ITT 8

b2

4. BYT1 HTI B, AP YT I A 8




1)1

(2) 2

(3) 3

(4) 4

1[Option ID=25229] Question Description : general_paper_genarel paper_set 13_english_q33
2[Option ID=25230]

3[Option ID=25231]
4[Option ID=25232]

Sl. No.34
QBID:13201034

Which of the following statements are true?

A. WWW is a collection of multimedia web pages stored on a website.
B. URLs specify the location of all web pages.
C. Web resources are accessed by Windows Operating System.

Choose the correct answer from the options given below:

1. A and B only
2. Aand C only
3.B and C only
4. A BandC

1) 1

(2) 2

3) 3

(4) 4

FEfied PH-9 sYT H8l § 2

A www e deuge W Yufed AecHifSar 9 0o &1 0% T § |
B. URL 91 39 Uull ot e &1 faFfey axarg |
c. f&sSis TRfET Reg Y @ GO U eI € |

193U Tt fasedl O § Had SUgHR SR &1 98- Hifod:

1. %dd A IR B
2. FAAAARC
3. PadB AR C
4.A,B3RC

1) 1

) 2

3) 3

4) 4

1[Option ID=25233] Question Description : general_paper_genarel paper_set 13_english_q34
2[Option ID=25234]
3[Option ID=25235]
4[Option ID=25236]

Sl. No.35
QBID:13201035




Match List I with List IT

LISTI
(Storage Device or LIS‘_I 3_1
Media) (Description)

Non-volatile memory that can only be read
from and not written to
Optical storage media that allows very high

A.|Blue-ray disc L

B | 88D IL |storage capacity by using blue/violet laser
technology.
Volatile memory that stores data, programs. and
C.|ROM III. [the parts of the operating svstem that are

currently in use.

Device that stores data by controlling the

D |RAM IV. Imovement of electrons within a microchip; there
are 110 moving patts.

Choose the correct answer from the options given below:

. A-1, B-IV, C-I1, D-IIT
. A-TIL, B-1, C-IV, D-II
. A-TV,B-IL,C-I, D-III

. AL, B-IV, C-1, D-IIT
1) 1

2) 2

(3) 3

(4) 4

el 1 1Y G 11 DT T Hifory -

R B

T L eifit
(HUSTRUT
i qe @)
MR- 3Tt HART ford doga Ugl o
A X e L [qehdT 3R 38 W foan el S
] |
mﬁgmﬂ(&@wﬁa@;
i [HTE0H Gl NENEEGERIE!
ik = ﬁﬂﬂ%ﬁﬁ@ﬂa{%w
&IH T UTd Dl SiTdl & |
ST TR o aaHE 3 Jgdd
C. [ROM 11 [STeT, W 371 MefeT fien &
T &1 BRI &al & |
ag gfad Sl fodll Argshitay forgH
D [RaM v [P i crfersfien) fesn T8t Bld
¢, 579 giaem! @ i @1 e
@3 §U S1e] ] T B & |
i 4u U fasedl O 1 98! Sux o1 994 Pilolu :
1. A-I, B-IV, C-II, D-IIT
2. AIL, BI, C-IV, DAII
3. A-IV, B-IL, C-1, D-IIT
4. A-II, B-IV, C-I, D-III
(1) 1
(2) 2
3) 3
(4) 4

1[Option ID=25237] Question Description : general_paper_genarel paper_set 13_english_q35
2[Option ID=25238]
3[Option ID=25239]
4[Option ID=25240]

Sl. No.36
QBID:13201036




How many national missions are there in the National Action Plan on climate change?

e
MO OO - O

(1) 1
(2) 2
(3) 3
(4) 4

Scarg uikad- da el AP S A o o AP iR E 2

=1 On

il ol
o o

1) 1
(2) 2
(3) 3
4) 4
1[Option ID=25241] Question Description : general_paper_genarel paper_set 13_english_q36
2[Option ID=25242]

3[Option ID=25243]
4[Option ID=25244]

Sl. No.37
QBID:13201037

Given below are two statements:

Statement-I: Hydro chlorofluorocarbons (HCFCs) were introduced as ozone-safe replacement for
chlorofluorocarbens (CFCs)

Statement-1I: Hydro chlorofluorocarbons (HCFCs) do not contribute to green house warming.
In the light of the above statements. choose the most appropriate answer from the options given below:

1. Both Statement I and Statement II are correct.

2. Both Statement I and Statement I are incorrect.

3. Statement I is correct but Statement II is incorrect.
4. Statement [ is incorrect but Statement II is correct.

(1) 1
(2) 2
3) 3
(4) 4

TPy fRume:

HYT 1 : SIS SIRIRIRRID 6] (TIHUHHD) Bl FARIKRIGIE! (B & S Jad Wiaees] o
¥ T UEd fear o |

YT 11 : TS SIFIRIKRIGa (TIUHHT) UIGU-1Tg a1o= & 3G Agl &id g |
TWRIGd DY D 3aid H, -1 U MY f[dhedl § U 96 IUGH IR DI G BIOIC:
1. PYF 1 AR 11 T et T
2. YA 1 3R 11 ST T &
3. HYF 198! 8, Afhd HYU 11 7Iad g
4. BYF 1704 &, A BYF 1 TR B

1 1
) 2
3) 3




(4) 4

1[Option ID=25245] Question Description : general_paper_genarel paper_set 13_english_q37
2[Option ID=25246]
3[Option ID=25247]
4[Option ID=25248]

Sl. No.38
QBID:13201038

Which of the following play a role during formation of photochemical smog?

A.NO,; (Nitrogen dioxide)

B. Black Carbon

C. Sun light

D. VOCs (Volatile Organic Compounds)
E. CO (Carbon monoxide)

Choose the correct answer from the options given below:

A, Band C only
A, CandD only
.A.Dand E only
.B.C.Dand E only
(1) 1

(2) 2

3) 3

(4) 4

SOBTRT AP 45 e & & § Fa & 9 fat uffrer gt 8

A.NO, (FIIECITH SRaHES)
B. &P Pla-

C. 4 F1 U™

D. VOCs (@a=iia ofg A1)
E. CO (PTaH ARIEES)

H1 14U 7T fooedl § 9 9E1 TR &1 98- BHioig:

1.PAAA, B3R C
2. PTAA, C3HRD
3.%ad A, D IRE
4. $JAB,C.DARE

1 1

) 2

(3) 3

(4) 4

b

e s

1[Option ID=25249] Question Description : general_paper_genarel paper_set 13_english_q38
2[Option ID=25250]
3[Option ID=25251]
4[Option ID=25252]

Sl. No.39
QBID:13201039

In which of the following types of electricity power plants, turbines are not required?

1. Geothermal
2. Nuclear
3. Hydro
4. Solar
(1) 1
(2) 2
(3) 3
(4) 4




FafiEd # ¥ g WopR & faqgd SHull GuH! § exalgH| &1 SaRgadl 78] ohil 6 2

B

1[Option ID=25253] Question Description : general_paper_genarel paper_set 13_english_q39
2[Option ID=25254]
3[Option ID=25255]
4[Option ID=25256]

Sl. No.40
QBID:13201040

Given below are two statements: one is labelled Assertion A and other is labelled as Reason R.

Asgsertion-A : Rise in water temperature from normal levels, due to thermal pollution, can adversely affect
water quality and aquatic life.

Reason-R : Oxygen solubility in water increases as temperature increases.
In the light of the above statements. choose the most appropriate answer from the options given below:

1. Both A and R are correct and R is the correct explanation of A.

2. Both A and R are correct but R is NOT the correct explanation of A.
3. A is correct but R is not correct.

4. A is not correct but R is correct.

1) 1
(2) 2
(3) 3
(4) 4

4 31 Y U MU & US SHTUHYUT (Assertion A) & =0 § fifEd 8 T §OR1 3P FRUI (Reason R) &
=Y :

SHYA A : AU UEN0T & PRI S0 & AIIHI o] ATHI &R 3 a1 ofd B1 gl $fR Sieliy s
R Wded THIG STd Ihal ¢ |

HRUR : AOHH & g & w1 ot F serfie o1 ga-<iad 3 afS et € |
SRI HY & 3HTalie 1, - [ U [dbedl o 9 Fad IUgad 3k &1 98- Hiful |

1. A 3R R GH T8I € 3R R, AP Te! AT B
2. A R R G Uel €, A1 R, A BT U UrRa g 8
3. A9El g AP R 8l 81 &

4. ATEI T8l g AP R TR B
1 1
() 2
3) 3
4) 4

1[Option ID=25257] Question Description : general_paper_genarel paper_set 13_english_q40
2[Option ID=25258]
3[Option ID=25259]
4[Option ID=25260]

Sl. No.41
QBID:13201041




University of Mithila was famous for

A. Astronomy

B. Nyaya Sutra

C. Archaeology

D. Logical sciences
E. Medicine

Choose the most appropriate answer from the options given below:

A and B only
.B and D only
. A and C only
.D and E only
(1) 1
(2) 2
(3) 3
(4) 4

foyiere fayfdeneg fegd fou uide 412

A. 9T fa3iH

B. TTGYA
C. QRIdd - fage
JHRIT

D.
E. SR
12 14U Tt fas et § 9 Had SUgH TR &1 98- Hifod:

1. Had A IRB
2. HAAB ARD
3. PAAAIMRC
4. FAADIRE

1y 1

) 2

3) 3

4) 4

R

1[Option ID=25261] Question Description : general_paper_genarel paper_set 13_english_q41
2[Option ID=25262]
3[Option ID=25263]
4[Option ID=25264]

Sl. No.42
QBID:13201042
By . all Higher Education Institutions (HEIs) shall aim to become multidisciplinary institutions and

shall aim to have larger student enrolments as per NEP 2020, recommendations.

. 2035
2030
.2040

2025

e

1) 1
(2) 2
(3) 3
(4) 4

ST e Aifd, 2020 # @t TS Tl & AR aF THt SR e dw=T (TEs ) S aed
g fawdt Syl o uRvrd g1 8 ay faenfifal & Ammie- § 9gd siide gl a1 g |

2035
2030

204

FaRiR ok

2025

1 1




(2) 2

3) 3

(4) 4

1[Option ID=25265] Question Description : general_paper_genarel paper_set 13_english_q42
2[Option ID=25266]

3[Option ID=25267]
4[Option ID=25268]

Sl. No.43
QBID:13201043

In 1904, who was the moving force behind the enactment of the Indian Universities Act which intended to introduce radical
changes into some of the existing universities in colonial India ?

. Lord Canning

. Lord Mountbatten
. Lord Curzon

. Lord Linlithgow

o R

1) 1
(2) 2
(3) 3
(4) 4

ay 1004 T YRGH fayfaenay sfifan & sififgaa & Faifed o 9 o1 7= R« 3 o s
uFaiie YRd ¥ 3o faemH fayfaaredl # smer=e ke Q- $-1 U1 2

1. @S BT
2. @18 Adeded
3. T1S Hoi
4. TS fefferumm
1 1
) 2
3) 3
(4) 4

1[Option ID=25269] Question Description : general_paper_genarel paper_set 13_english_q43
2[Option ID=25270]
3[Option ID=25271]
4[Option ID=25272]

Sl. No.44
QBID:13201044

One of the regional centers of UGC is situated in which of the following states?

. Punjab

. Rajasthan
. Orissa

. Assam
(1) 1

(2) 2

3) 3

(4) 4

fasfaerera sam S &1 Us & o5 Fgifea 4 9 fg T o a8

EEIG]
RESIC]
EEIRL
T

b —

e

oW e

(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=25273] Question Description : general_paper_genarel paper_set 13_english_q44
2[Option ID=25274]




3[Option ID=25275]
4[Option ID=25276]

Sl. No.45
QBID:13201045

In 1937, Gandhiji evolved a scheme popularly known as the Wardha Scheme of Basic National Education. In
order to implement the recommendation of Wardha Scheme, a committee was set up under the Chairmanship

of:

1. MLK. Gandhi
2. B.G. Kher
3. Zakir Hussain
4. AK. Azad
(1) 1
(2) 2
3) 3
(4) 4

ay 1937 J Mol 7 Us Wi fasfad &t 5t guf Wi & e "w-d e & A1 3 fded § |
gl i @ Sxgfadl & sat-aad gq Faifed O 9 feue! siaed & ue aiafd 1fed &1 g i 2

1[Option ID=25277] Question Description : general_paper_genarel paper_set 13_english_q45
2[Option ID=25278]
3[Option ID=25279]
4[Option ID=25280]

Sl. No.46
QBID:13201046




Read the following passage and answer the question.

In both rich and poor countries, native or indigenous people are generally the least powerful, most neglected
groups in the world. Typically descendants of the original inhabitants of an area taken over by more powerful
outsiders, they are distinct from their country's dominant language, culture, religion, and racial communities.
Of the world's nearly 6.000 recognized cultures, 5,000 are indigenous ones that account for only about 10
percent of the total world population. In many countries, traditional caste systems. discriminatory laws,
economics, or prejudice repress indigenous people. Their unique cultures are disappearing, along with
biological diversity as natural habitats are destroyed to satisfy industrialized world appetites for resources.
Traditional ways of life are disrupted further by dominant Western culture sweeping around the globe.

At least half of the world's 6,000 distinct languages are dying because they are no longer taught to children.
When the last few elders who still speak the language die. so will the culture that was its origin. Lost with
those cultures will be a rich repertoire of knowledge about nature and a keen understanding of a particular
environment and way of life. Interestingly. just 12 countries account for 60 percent of all human languages.
seven of these are also among the "mega diversity" countries that contain more than half of all unique plant
and animal species. Conditions that support evolution of many unique species seem to favour development of
equally diverse human cultures as well.

Fgfaraa Tenw &1 ufed 3R Uy &1 3w 2ol |

U AR e 31 33 & ga Fand a1 weeh o ammaaar fay § 968 o0 amaaE, waiide suféa
g § | U= =9 3§ Nfaqere sreae & Hariyal gri siftmfed ol &= & 1o Fafidl & dea
&mﬁ%ﬂﬁuﬂﬂw Tpfa, yH IR i Iaral 3 i § | % o1 14 6000 T UTe Tep il

T 5000 ¥plcal WS & Sl 9% B o S8BT B T 10 YA § | §5d 9 o= 1, TR Sfd-
TT, YeUTayul fafeai, sifde! a1 yaiug 9 WexieHl H1gHA g g | d-ﬂdﬁlm%ﬂ?mdt@iﬁ@%
3R IS WU WIHAe AT H & &9 F 5ia fafdedr 79 81 361 § dife slieiiiopd siord & Fanesi
&1 47 1 R 61 o a5 | TE fay T 1T Sl o1 doll I WHIG e & BRI RURS Sig-siel
SR i faed2 g1 ol 8 |

3% @1 6000 fafry yrw1afl & & &9 I o1 el yreTd g 51 38 § Fifd 3@ a=di & g1 e =g
fepan S 8 | 919 sifan poe ggud of snft off 59 w1 ¥ dieid § S9! g & S o SUd! Se-
TEPIA BT HI 3 B I | 37 HXPIeral P FA T D IU-W1Y THId S SR H I 1 99y a faqa
18R 3R us oy gafawur ud Siaiet & g gug «f gard g1 9T | i Sas qw g g e
T Bt gl U B H 60 WiaRrd TR 12 <%0 T Uged gidl o | 590 9 A1 <%0 Tawnd fafderar ard
431 ¢ el 9o Ay u1ey ud Sigefl @1 od ¥ e yenfadl € | 9gd § AR gonfadl & sHgd
Safawre geier uRkfufqyl war ou d fafduargl grd Swpfa & faem & ot wems udld it €
|

The most appropriate title for the passage 1s:

State of the indigenous world

Biodiversity conservation measures

. Indigenous people and world's biodiversity
. Empowerment of indigenous people.

1) 1

(2) 2

3) 3

(4) 4

Y TR &1 HallUe uged XN § -

1. SISl ST &1 AT
2. /g fafgear TRem & Iu™
3. W9eio 3R afie g fafauar
4. WSS BT LB
(1) 1
(2) 2
(3) 3
(4) 4

U PO S

1[Option ID=25281] Question Description : general_paper_genarel paper_set 13_english_q46
2[Option ID=25282]
3[Option ID=25283]
4[Option ID=25284]




Sl. No.47
QBID:13201047
Read the following passage and answer the question.

In both rich and poor countries, native or indigenous people are generally the least powerful, most neglected
groups in the world. Typically descendants of the original inhabitants of an area taken over by more powerful
outsiders, they are distinet from their country's dominant language. culture, religion, and racial communities.
Of the world's nearly 6.000 recognized cultures, 5,000 are indigenous ones that account for only about 10
percent of the total world population. In many countries, traditional caste systems. discriminatory laws,
economics, or prejudice repress indigenous people. Their unique cultures are disappearing, along with
biological diversity as natural habitats are destroyed to satisfy industrialized world appetites for resources.
Traditional ways of life are disrupted further by dominant Western culture sweeping around the globe.

At least half of the world's 6.000 distinct languages are dying because they are no longer taught to children.
When the last few elders who still speak the language die. so will the culture that was its origin. Lost with
those cultures will be a rich repertoire of knowledge about nature and a keen understanding of a particular
environment and way of life. Interestingly. just 12 countries account for 60 percent of all human languages.
seven of these are also among the "mega diversity” countries that contain more than half of all unique plant
and animal species. Conditions that support evolution of many unique species seem to favour development of
equally diverse human cultures as well.

frafafad v o ufed iR uy TR T |

T AR [ a1 <= § oa Mo a1 e o amrad oy & 9ed o0 gmadaE, gaiite suidd
g § | UR=1Ue =9 J Sfeaeiel sTagd & Haraal grT sifmufed el 87 & ga Faifadl & dea
O SR BT U LT, T, o SR 7%h Tl & i € | 7% &1 a1t 6000 TR Ured Sasfaa
¥ 5000 TXHToa! WERN § o fay 3 $a SHwRE BT AU 10 WA¥E § | 954 9 3=, WIRNTd S
W, WeHTaqul fafem, sifdfet a1 gatus 9 WeRiieH @1 g0 GidT § | 3! [Ty @ iad g ol 6l o
IR 3 WIY-T1Y WP I AT ©IF & =0 F 9iq fafaydr 79 8138 § aife siemfied s & gare=t
1 HiT D1 O30 a1 o 9 | 9H oy & T1HTa Sl &1 doll 9 U1 e & HRUT URGRS SR
IR G ST el © |

fa% @1 6000 faRy yrw1af & I &9 I o1 el yrST faea 51 X8 & TP o@ Todi & g1 e =g
f3a1 ST 8 | 919 Sifon $oe ggud of ot ol 59 11w § e € 991 gog & St o 39! oiHeb-
Iepicl 1 HT 3 81 ST | 31 Gl o FHIC i & FIY-J1Y Uid & §R H I b1 95 J [9ga
SR 3R T {3y gaiavor ¢d Sigiel 1 e g0 oft gura 81 9 | s Se aaus e &
THa &1 at urssi 1§ 60 Ui U1 12 301 H UgeEd gl 6 | 39 9 91 <X fawre fafderar are
S & Wgl g Ay urey U Gigel 1 o8 ¥ Sifie yenfadi € | sgd 4 [l ueiadl & sigd
Salds™ SHdeR! uRkiRfl 99 ¥4 9 fafdeargul amdm Swefa & faem & o 9ere wdid gidl o
|

Given below are two statements:

Statement-I: Majority of indigenous cultures are confined to a very few countries of the world.
Statement-II: Majority of world population consists of indigenous people.
In the light of the above statements, choose the correct answer from the options given below:

. Both Statement I and Statement II are true

. Both Statement I and Statement IT are false
3. Statement I is true but Statement II is false
4. Statement I is false but Statement II is true

(1) 1

(2) 2

(3) 3

(4) 4

|




4 dl P Ry U B

HYA 1 : 9gd 41 Weel SHiaai 9y & ood <xi de g1 difta § |

DY - fay DI MBI e @ i &1 g |

SWRITd PYA & el , = 30 MU fapedl & I 98t TR &1 99 P
1. PYA 1 3R 11 §HI 9 T
2, FUA 1 SR 11 ST ST §

3. FYT 19T &, dfbd Y 1 AT B

4. FU 1 A &, Al YT 1T T 5|
1)1
(2) 2
(3) 3
4) 4
1[Option ID=25285] Question Description : general_paper_genarel paper_set 13_english_q47
2[Option ID=25286]

3[Option ID=25287]
4[Option ID=25288]

Sl. No.48
QBID:13201048 _
Read the following passage and answer the question.

In both rich and poor countries, native or indigenous people are generally the least powerful, most neglected
groups in the world. Typically descendants of the original inhabitants of an area taken over by more powerful
outsiders, they are distinct from their country’s dominant language, culture, religion, and racial communities.
Of the world's nearly 6.000 recognized cultures, 5,000 are indigenous ones that account for only about 10
percent of the total world population. In many countries, traditional caste systems, discriminatory laws,
economics, or prejudice repress indigenous people. Their unique cultures are disappearing, along with
biological diversity as natural habitats are destroyed to satisfy industrialized world appetites for resources.
Traditional ways of life are disrupted further by dominant Western culture sweeping around the globe.

At least half of the world's 6,000 distinct languages are dying because they are no longer taught to children.
When the last few elders who still speak the language die. so will the culture that was its origin. Lost with
those cultures will be a rich repertoire of knowledge about nature and a keen understanding of a particular
environment and way of life. Interestingly, just 12 countries account for 60 percent of all human languages.
seven of these are also among the "mega diversity" countries that contain more than half of all unique plant
and animal species. Conditions that support evolution of many unique species seem to favour development of
equally diverse human cultures as well.

fgfafad ey & ufed siR Uy &1 3w aifol |

T iR e g1 o= o e awd a1 e o amraan fay o 9ed o gmddar, gaifte 3uigd
TG § | RS0 &9 U Qi sTerge o Haril gRT sitrifed foit 8= & ga Harkdl & dus
U ST DI W U], HEPpia, ¥ SR 1%l §gard! & (3 § | 1% B T 6000 TR WK HEpiai
% 5000 TXpToaT WS E o a3y 3 Fa T BT AU 10 WA & | 95 9 o §, TRORATd -
vt Seuraquf fafer, it a1 yate @ wesfisHi o ar Sla1 € | S oy Sepfawi e €1 et 8
SIR I TIY-HTY WIHTa® e W & &0 H oid fafayar 75 81 6t § aifts siefirited sd & gt
1 077 B G a1 o 9o | GO fay o U1Ted i 1 doll I TUIG e & DR GRURS Sia-il
3R off faed =1 €1 STl |

fa% 1 6000 fafRry HraTafi & A &0 J o aneht 1T faga 81 381 © =ifoh ofa &=l 1 511 FU&r -1l
PaT ST § | 9 Sifas g gaod off Sl Hi 58 U I dieid § S9! g 6l Sl dl S9! oid-
i o1 i 3id 81 | | 3 Spiadi & 9uItd g4 & HY-TY Yhid & aR O IH &1 ¥ g faga
3R 3R U ARy gaiaror ud Sia-gich & g Ia%1 i 907 81 9l | MR o- e du g g i
Trg Bt Tt yrai H & 6o vferwrd vreE 12 301 F vged g1 | 57 & urd & fawe fafguar o
%’Q{%Gﬂiwm%@@mqwﬁaﬂaﬁaﬁaﬂﬁﬁa{%wﬁﬁ%|E§H%ﬁf§‘r§wﬁ|ﬁf$&w
Sefawe grdert uRkfufyal aam o9 3 fafguargel ard Swfa & faem & o wems wdld eidt €
|




Given below are two statements: One is labelled as Assertion A and the other is labelled as Reason R:
Assertion-A : Indigenous people live in harmony with nature.

Reason R: Biodiversity tends to thrive at places where indigenous cultures thrive.

In the light of the above statements, choose the most appropriate answer from the options given below:

. Both A and R are correct and R is the correct explanation of A.

. Both A and R are correct but R is not the correct explanation of A.
. A is correct but R is not correet.

. A is not correct but R is correct.

(1) 1

(2) 2

3) 3

4) 4

4 &1 By 3T U & TS TS (Assertion A) & =0 H [AREd © T §8R1 3P PRI (Reason R) &
L REE

HFYBUT A : S AT TP P Y HETE TDIIEA G |

éﬁITUTR : o7 STl H S=Te Aol werdl- el § gl oid [afdedl & Td 96+ (-9-) B1 SHTaT I8l
|

SWRIad HYA & 3aie 4, 1 f3u T fawedl & 3 gaifie Suged SR &1 984 S |

. A SRR SHI T 8 SRR, A DT Tt TR B

. A 3R R I 9 &, Afp R, A 1 T o €1 B
ATT L AMPAR ST B
AFIE AP R TR

) 1

@) 2

() 3

) 4

R

ko

1[Option ID=25289] Question Description : general_paper_genarel paper_set 13_english_q48
2[Option ID=25290]
3[Option ID=25291]
4[Option ID=25292]
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Read the following passage and answer the question.

In both rich and poor countries, native or indigenous people are generally the least powerful, most neglected
groups in the world. Typically descendants of the original inhabitants of an area taken over by more powerful
outsiders, they are distinct from their country's dominant language, culture, religion, and racial communities.
Of the world's nearly 6.000 recognized cultures, 5,000 are indigenous ones that account for only about 10
percent of the total world population. In many countries, traditional caste systems. discriminatory laws,
economics, or prejudice repress indigenous people. Their unique cultures are disappearing, along with
biological diversity as natural habitats are destroyed to satisfy industrialized world appetites for resources.
Traditional ways of life are disrupted further by dominant Western culture sweeping around the globe.

At least half of the world's 6,000 distinct languages are dying because they are no longer taught to children.
When the last few elders who still speak the language die. so will the culture that was its origin. Lost with
those cultures will be a rich repertoire of knowledge about nature and a keen understanding of a particular
environment and way of life. Interestingly. just 12 countries account for 60 percent of all human languages.
seven of these are also among the "mega diversity" countries that contain more than half of all unique plant
and animal species. Conditions that support evolution of many unique species seem to favour development of
equally diverse human cultures as well.

Fgfaraa Tenw &1 ufed 3R Uy &1 3w 2ol |

U AR e 31 33 & ga Fand a1 weeh o ammaaar fay § 968 o0 amaaE, waiide suféa
IR € | W fue w0 9 il srere & Fatit grr siftrafed fadt é= & o fFarfat & dee
arq%r%mﬁuww Tpfa, o SR i gardl 3 i § | fa% o1 1 6000 TTTET U

T 5000 ¥plcal WS & Sl 9% B o S8BT B T 10 YA § | §5d 9 o= 1, TR Sfd-
TT, YeUTayul fafeai, sifde! a1 yaiug 9 WexieHl H1gHA g g | d-ﬂdﬁlmﬂﬂvlddt@ﬁiﬁ@%
3R IS WU WIHAe AT H & &9 F 5ia fafdedr 79 81 361 § dife slieiiiopd siord & Fanesi
&1 47 1 R 61 o a5 | TE fay T 1T Sl o1 doll I WHIG e & BRI RURS Sig-siel
SR i faed2 g1 ol 8 |

3% @1 6000 fafry yrw1afl & & &9 I o1 el yreTd g 51 38 § Fifd 3@ a=di & g1 e =g
fepan S 8 | 919 sifan poe ggud of snft off 59 w1 ¥ dieid § S9! g & S o SUd! Se-
Tepid BT i 3 BT ST | I TPl o AN 51 D TY-T1Y UHid & IR H FH ST JHG g fage
18R 3R us oy gafawur ud Siaiet & g gug «f gard g1 9T | i Sas qw g g e
T Bt gl U B H 60 WiaRrd TR 12 <%0 T Uged gidl o | 590 9 A1 <%0 Tawnd fafderar ard
431 ¢ el 9o Ay u1ey ud Sigefl @1 od ¥ e yenfadl € | 9gd § AR gonfadl & sHgd
Safawre geier uRkfufqyl war ou d fafduargl grd Swpfa & faem & ot wems udld it €
|

Which among the following inferences can be drawn from the passage?

A. Indigenous people in rich countries are generally neglected and their voices remain unheard.
B. Native people in the poor countries are quite powerful.

C. Most of the world population belongs to indigenous cultures.

D. Indigenous people possess unique cultures

E. Indigenous cultures are facing a threat from western culture.

Choose the most appropriate answer from the options given below:

A.B.C.Dand E
A.C.Dand E only
A, D and E only
B.C.Dand E only

D 1

(1) 1
(2) 2
3) 3
(4) 4




e 9 Fgifed & 3 g e Ao s aeare 2

A TG o1 T I9 AT @1 GIEIRIG: SUa ST STl § SR 3961 a1d &1 STHT BT S1al g |
B. TRIq 31 & g fardht aga Il g § |

c. fay & sifiepier mard! I TP 31 8 |

D. 3o AT 31 Tpia AR it § |

E. 3 SRpiadl o ufE THia § o &1 9 SR IS 6T R |

1 14U T fo el § § UE1 3Tk &1 98- BHIuIe:

1.A,B,C,D3RE
2. FAAA, C, D 3IRE
3. PdATA, D IRE
4. $JAB,C.DARE

1 1

) 2

(3) 3

(4) 4

1[Option ID=25293] Question Description : general_paper_genarel paper_set 13_english_q49
2[Option ID=25294]
3[Option ID=25295]
4[Option ID=25296]

Sl. No.50
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Read the following passage and answer the question.

In both rich and poor countries, native or indigenous people are generally the least powerful, most neglected
groups in the world. Typically descendants of the original inhabitants of an area taken over by more powerful
outsiders, they are distinct from their country’s dominant language, culture, religion, and racial communities.
Of the world's nearly 6.000 recognized cultures, 5,000 are indigenous ones that account for only about 10
percent of the total world population. In many countries, traditional caste systems, discriminatory laws,
economics, or prejudice repress indigenous people. Their unique cultures are disappearing, along with
biological diversity as natural habitats are destroyed to satisfy industrialized world appetites for resources.
Traditional ways of life are disrupted further by dominant Western culture sweeping around the globe.

At least half of the world's 6,000 distinct languages are dying because they are no longer taught to children.
When the last few elders who still speak the language die. so will the culture that was its origin. Lost with
those cultures will be a rich repertoire of knowledge about nature and a keen understanding of a particular
environment and way of life. Interestingly, just 12 countries account for 60 percent of all human languages.
seven of these are also among the "mega diversity" countries that contain more than half of all unique plant
and animal species. Conditions that support evolution of many unique species seem to favour development of
equally diverse human cultures as well.

fgfafad ey & ufed siR Uy &1 3w aifol |

T iR e g1 o= o e awd a1 e o amraan fay o 9ed o gmddar, gaifte 3uigd
TG § | RS0 &9 U Qi sTerge o Haril gRT sitrifed foit 8= & ga Harkdl & dus
U ST DI W U], HEPpia, ¥ SR 1%l §gard! & (3 § | 1% B T 6000 TR WK HEpiai
% 5000 TXpToaT WS E o a3y 3 Fa T BT AU 10 WA & | 95 9 o §, TRORATd -
vt Seuraquf fafer, it a1 yate @ wesfisHi o ar Sla1 € | S oy Sepfawi e €1 et 8
SIR I TIY-HTY WIHTa® e W & &0 H oid fafayar 75 81 6t § aifts siefirited sd & gt
1 077 B G a1 o 9o | GO fay o U1Ted i 1 doll I TUIG e & DR GRURS Sia-il
3R off faed =1 €1 STl |

fa% 1 6000 fafRry HraTafi & A &0 J o aneht 1T faga 81 381 © =ifoh ofa &=l 1 511 FU&r -1l
PaT ST § | 9 Sifas g gaod off Sl Hi 58 U I dieid § S9! g 6l Sl dl S9! oid-
i o1 i 3id 81 | | 3 Spiadi & 9uItd g4 & HY-TY Yhid & aR O IH &1 ¥ g faga
3R 3R U ARy gaiaror ud Sia-gich & g Ia%1 i 907 81 9l | MR o- e du g g i
Trg Bt Tt yrai H & 6o vferwrd vreE 12 301 F vged g1 | 57 & urd & fawe fafguar o
%’Q{%Gﬂiwm%@@mqwﬁaﬂaﬁaﬁaﬂﬁﬁa{%wﬁﬁ%|E§H%ﬁf§‘r§wﬁ|ﬁf$&w
Sefawe grdert uRkfufyal aam o9 3 fafguargel ard Swfa & faem & o wems wdld eidt €
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Given below are two statements: One is labelled as Assertion A and the other is labelled as Reason R:
Assertion-A : Western culture supports indigenous people and their traditional ways of life.

Reason R: Indigenous people possess ecological wisdom about their natural habitat.

In the light of the above statements, choose the most appropriate answer from the options given below:

1. Both A and R are correct and R is the correct explanation of A.
2. Both A and R are correct but R is not the correct explanation of A.
3. A is correct but R is not correct.
4. A 1s not correct but R 1s correct,
(1) 1
(2) 2
3) 3
4) 4

4 &1 By 3T U & TS TS (Assertion A) & =0 H [AREd © T §8R1 3P PRI (Reason R) &
L REE

YT A : GIETH T T 33 TN 31 3R I7P] URARS Siig-1=rell BT 90T Sl © |

PRUIR : TSR AT H 0= WIopiaes SHTary ww & ey § oifufasia g g g |
SRIGT HY & 3HTelied H, - fGU Y [dbedi & 9 Fad Iugad SR &1 98- Hifo |

1. A 3R R G U8l € 3R R, A P Ug! AR B
2. A 3R R ST T8l §, AfT R, A B! Gl OreT g1
3. ATEI € A R GEl T8 B

4. A¥EI 7RI g AP R 91 B
1) 1
(2) 2
@) 3
@) 4

1[Option ID=25297] Question Description : general_paper_genarel paper_set 13_english_q50
2[Option ID=25298]
3[Option ID=25299]
4[Option ID=25300]

Paper 1I : 46-Adult Education/ Continuing Education/ Andragogy/ Non Formal Education.

Sl. No.1
QBID:146001

Which of the following test is used to determine if the scores of two groups differ on a single variable?

1. 'Z7 test

2. *T*iecst

3. °F test

4, None of these
(1) 1

(2) 2

3) 3

(4) 4

Tg S & o o 31 ol U foRie oR & o= 1 <1 99! & UTdias 3T o &, Fafafad 39
feg Tiequr 1 W foar oira 82




(2) 2

(3) 3

(4) 4

1[Option ID=24301] Question Description : adult_education_adult education_set1_english_q1
2[Option ID=24302]

3[Option ID=24303]
4[Option ID=24304]

Sl. No.2
QBID:146002

Which of the following is least used in measures of central tendency?

1. Mean

2. Median

3. Mode

4. None of these

(4) 4

&5 19 Ygierdi & A19- & Jad $H [T Sudiv gidl 82

HI
et

ST A BIS !
(1) 1
(2) 2
3) 3
(4) 4

B R

1[Option ID=24305] Question Description : adult_education_adult education_setl_english_q2
2[Option ID=24306]
3[Option ID=24307]
4[Option ID=24308]
Sl. No.3
QBID:146003
If the probability of answering a certain question correctly is four times the probability of answering it
incorrectly. what is the probability of answering it correctly?

1. 4/5
2..345
3.2/5
4. 1/5
(1) 1
(2) 2
3) 3
(4) 4

gfe ot vyl 1 ITR el AU o B Wiiied, 39 Wy &1 7Ted Ik faT oH &1 Wiiiedl &1 IR T 8,
el SR [T S 1 Wil i g2

1. 4/5
2.:3/5
3.2/5
4. 145
(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=24309] Question Description : adult_education_adult education_setl_english_q3
2[Option ID=24310]
3[Option ID=24311]
4[Option ID=24312]
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Which one of the following statistical techniques is an appropriate technique to examine the significance of
difference between two sets of scores?

. Chi-square

. Kendall’s tau
3. U test
4. W test

1) 1

) 2

3) 3

(4) 4

Fufafad gifegst do-ite! o 9 &1 1 g U] & & 9=l & &9 & <R & 3 o1 gsdra
& o Sfed doie 82

1. PIS-THIR
2. Pl
3.8
4. =g X
(1) 1
@ 2
(3) 3
(4) 4

ba =

1[Option ID=24313] Question Description : adult_education_adult education_setl_english_q4
2[Option ID=24314]
3[Option ID=24315]
4[Option ID=24316]

Sl. No.5
QBID:146005

Which one of the following is the source of secondary data?

1. Books
2. Interview schedule
3. Questionnaire
4. Case studies
(1) 1
(2) 2
3) 3
(4) 4

Fafead | S - v ar fgdae sies! ol Jid 62

:I—E.H!JI—‘
Ti

(1)1

(2) 2

(3) 3

4) 4

1[Option ID=24317] Question Description : adult_education_adult education_setl_english_q5
2[Option ID=24318]

3[Option ID=24319]
4[Option ID=24320]

Sl. No.6
QBID:146006




Which among the following is not right about Research?

1. It requires a detailed study
2.1t 1s a fiction
3. It can be scientific method
4. It requires a problem solving approach
1) 1
(2) 2
3) 3
(4) 4

Prafifed § S H orgE & R & gel el

1. 38 [t0 Us fawqd Sieqg= JH1aRgd gidl o
2. U UH U &
3. Ug Ud aqi-id fafr 8 gehet 81
4. 38 310 U TH1 1 GHIYT DR Tell e 01 §1FT 31999 g
(1) 1
) 2
3) 3
(4) 4

1[Option ID=24321] Question Description : adult_education_adult education_setl_english_q6
2[Option ID=24322]
3[Option ID=24323]
4[Option ID=24324]

Sl. No.7
QBID:146007

According to whom Hypothesis is, “a testable statement of potential relationship between two variables™?

1. Webstar
2. MeGuigan
3. Darlev

4. Latense
1)1

2 2

3) 3

4) 4

[Hd AR, ‘RG] &l 91 & did ST Tras & gR § U URI&U.00g YA 5 1°

1. g
e i
BTt
[l

EE R ]

1) 1
(2) 2

3) 3

4) 4

1[Option ID=24325] Question Description : adult_education_adult education_set1_english_q7
2[Option ID=24326]

3[Option ID=24327]
4[Option ID=24328]

Sl. No.8
QBID:146008

Communication is the transmission of

1. Information
2. Meaning
3. Both Information and Meaning
4, None of these
(1) 1
(2) 2
(3) 3




(4) 4
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1[Option ID=24329] Question Description : adult_education_adult education_setl_english_q8
2[Option ID=24330]
3[Option ID=24331]
4[Option ID=24332]

Sl. No.9
QBID:146009

How many types of communication occur according to organizational structure?

. Two
. Three
. Four
. Five
(1) 1
(2) 2
3) 3
(4) 4

AT 2fd & SUR YaR & d- PR bfed gid 82

R O R

(1) 1

(2) 2

(3) 3

4) 4

1[Option ID=24333] Question Description : adult_education_adult education_setl_english_q9
2[Option ID=24334]

3[Option ID=24335]
4[Option ID=24336]

Sl. No.10
QBID:146010

Which of the following is a barrier to effective communication?

1. Badly expressed message
2. Screening or filtering
3. In-attention
4. All the above
1) 1
(2) 2
(3) 3
(4) 4

frafafaa ¥ e guidi SaR & a1er 82
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(1) 1
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(2) 2

(3) 3

(4) 4

1[Option ID=24337] Question Description : adult_education_adult education_setl_english_q10
2[Option ID=24338]

3[Option ID=24339]
4[Option ID=24340]

Sl. No.11
QBID:146011

India’s largest news agency is -

1.FBI
2. UTI
3. UNI
4. PTT
(1) 1
(2) 2
(3) 3
(4) 4

HRd &1 9ad 98! THER-TOY S 91 82

1. TH 1375,
2.9.41.318.
3. QU3
4. 411318,

1) 1

(2) 2

(3) 3

4) 4

1[Option ID=24341] Question Description : adult_education_adult education_setl_english_q11
2[Option ID=24342]
3[Option ID=24343]
4[Option ID=24344]

Sl. No.12
QBID:146012

Which of the following is the pillar of Lifelong Learning?

. Primary Learning
. Learning to live together

b

3. Learning for future career
4. Secondary Learning

1) 1

(2) 2

3) 3

(4) 4

frfafad 5 9 oF Siaod=g e &1 T 82

e siferm
 TY-TY S &7 31feH

. g &yl &1 aifeH
fTadtge aiferm

(1) 1

(2) 2

(3) 3

4) 4
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1[Option ID=24345] Question Description : adult_education_adult education_setl_english_q12
2[Option ID=24346]
3[Option ID=24347]
4[Option ID=24348]

SlI. No.13
QBID:146013




“Health is the mere absence of illness” What other factor can be added in the recent definition of Health?

. Wellness/Wellbeing
. Mental Wellbeing

. Social Wellbeing

. All of these

(1) 1
(2) 2
(3) 3
(4) 4

<TG A SR B SRR 3 W@ 1 e IR H B9 ¥ 3 HRS SIS o Habd 82
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1[Option ID=24349] Question Description : adult_education_adult education_setl_english_q13
2[Option ID=24350]
3[Option ID=24351]
4[Option ID=24352]

Sl. No.14
QBID:146014

Hypothesis plays a key role in

L. Formulating study

2. Guiding study

3. Both Formulating study and Guiding study
4. None of these

(4) 4

U@ 8 8 ue agayul YifeT Furdi g -

1. T Bl GG P H
2. AT B AFTERA & H _

3. SR B G T DI GIATE D3 T SR {2 B AFiaRH g 1
4. FHIADIE Tl

1[Option ID=24353] Question Description : adult_education_adult education_setl_english_q14
2[Option ID=24354]
3[Option ID=24355]
4[Option ID=24356]

Sl. No.15
QBID:146015

Adulthood is

. a study of Adults

. a level of social maturity of Adults
. a study of senior citizens

. a research on adult relationship
1) 1

(2) 2

B T R




1[Option ID=24357] Question Description : adult_education_adult education_setl_english_q15
2[Option ID=24358]
3[Option ID=24359]
4[Option ID=24360]

Sl. No.16
QBID:146016

Who among the following has been a major force in drawing attention to the practice of lifelong learning?

1. Adult Learners
2. Adult Workers
3. Adult Educators
4. Adult Philosophers
(1) 1
(2) 2
3) 3
(4) 4

HTCITGA SHTUTH & 3T B HR A DA B & Ul Jeried FaH S BH G 82

1. e fremeif

2. Wig e & Srieal
3. Ui fRren & e
1. T e & gifRe

(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=24361] Question Description : adult_education_adult education_setl_english_q16
2[Option ID=24362]
3[Option ID=24363]
4[Option ID=24364]

Sl. No.17
QBID:146017

In the following which is not a non-parametric statistic?

72

tau
3. W coefficient
4. F test

(1) 1

(2) 2

(3) 3

(4) 4

bt e
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) 2

(3) 3

(4) 4
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1[Option ID=24365] Question Description : adult_education_adult education_setl1_english_q17
2[Option ID=24366]
3[Option ID=24367]
4[Option ID=24368]

Sl. No.18
QBID:146018

The approach that starts with each individual learner but then becomes a group process?

. Therapy group

. Seminar

3. Tours and Field trips
4. Snowballing

ko —

(1) 1
(2) 2
3) 3
(4) 4
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1)1

(2) 2

(3) 3

(4) 4

1[Option ID=24369] Question Description : adult_education_adult education_setl_english_q18
2[Option ID=24370]

3[Option ID=24371]
4[Option ID=24372]

Sl. No.19
QBID:146019

Epidiascope is the type of -

1. Audio teaching aid
2. Visual teaching aid
3. Audio-visual teaching aid
4. Technical teaching aid
1) 1
(2) 2
3) 3
(4) 4

gRfEesff (ufufsare) Faftfad 3 g ueR drarE g

. %] DeffOr TieH
=9 Qeifore greE

. Yo TwT QfTeE TqreH
 qFH-ra! O TR
(1) 1

2) 2

da 2 b2




(3) 3
(4) 4

1[Option ID=24373] Question Description : adult_education_adult education_setl_english_q19
2[Option ID=24374]
3[Option ID=24375]
4[Option ID=24376]

Sl. No.20
QBID:146020

Who among the following is the author of “Experiential Learning™?

. David Kolb
. Knud Illeris

b

3. Peter Jarvis
4. Etienne Wenger
1) 1
2) 2
(3) 3
(4) 4

“TEOINaRe afT o ous Feifga A g

1. SidS Dley
2. IS SRy
3. Ulex oIR(e Y
4. YA a R
1)1
(2) 2
(3) 3
4) 4
1[Option ID=24377] Question Description : adult_education_adult education_set1_english_q20
2[Option ID=24378]

3[Option ID=24379]
4[Option ID=24380]

Sl. No.21
QBID:146021

Who is the author of Pedagogy of oppressed?

. Karl Marx

. Poulo Freire

. Babasaheb Ambedkar
. Vlamidir Lenin

(1) 1

(2) 2

3) 3

(4) 4

AT 3l 3ifSRes™ o1 aT FH 7

1. ST AT
2. qI3fa WY
3. SETTEY FESH
4. RIER dFHA
(1) 1
) 2
3) 3
4) 4

ko —
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1[Option ID=24381] Question Description : adult_education_adult education_setl_english_q21
2[Option ID=24382]
3[Option ID=24383]
4[Option ID=24384]

Sl. No.22
QBID:146022




The concept of ‘conscientization’ is related to

da s b

(1) 1
(2) 2
(3) 3
(4) 4

. Poulo Freire

. Roger Gould

. Etienne Wenger
. John Dewey

« AP R-TIIT T BT YR &7 Tia fhad 82

1. GT3fal By
2. AR TS
3. YA 4°R
4. 5 f&dt

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=24385]
2[Option ID=24386]
3[Option ID=24387]
4[Option ID=24388]

Question Description : adult_education_adult education_setl1_english_q22

Sl. No.23
QBID:146023

Psychometrics is the science of measuring psychological aspects of a person such as

. Skills
Abilities

R

(1) 1
(2) 2
3) 3
(4) 4

. Knowledge

. All of the above

Tt fadt cafda & A geqel &1 AT &1 faa g 5 -

1[Option ID=24389]
2[Option ID=24390]
3[Option ID=24391]
4[Option ID=24392]

Question Description : adult_education_adult education_setl_english_q23

Sl. No.24
QBID:146024

The theoretical view points in psychological qualitative enquiry are

. Phenomenology

. Symbolic interactionism

1
2
3. Semiotics
4

4. All of the above




(4) 4
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1)1

(2) 2

(3) 3

(4) 4

1[Option ID=24393] Question Description : adult_education_adult education_setl_english_q24
2[Option ID=24394]

3[Option ID=24395]
4[Option ID=24396]

Sl. No.25
QBID:146025

Which is not a condition for Adult learning?

1. The adult must be adequately motivated to change his'her behaviour
2. The adult must have a sequence of appropriate materials
3. Adults learn best in adult ways
4. Theoritical knowledge is required for desired behavioural change for adults
(1) 1
2) 2
(3) 3
(4) 4

fFafeiad & ¥ B Wie-siftms o1 U qdurd ol 62

1. 39 BI9SR & 9 & oY Wi &1 gaTd =9 § fmRd g1 9neu]
2. Wi & 9 Siad Imiiemail &1 ve R S giHl gleu|
3. Wig @ Ui axiel 9 ot waiad 9kad g1
4. UTel § Uférd ooagR-uad & fau Sgifs 319 &t Aewsar sl g
1 1
2) 2
@3) 3
(4) 4

1[Option ID=24397] Question Description : adult_education_adult education_setl_english_q25
2[Option ID=24398]
3[Option ID=24399]
4[Option ID=24400]

Sl. No.26
QBID:146026

Sarvodaya programme was started by in the year 1948.

1. Vinoba Bhave
2. Rabindranath Tagore
3. Dr. Sarvapalli Radhakrishnan
4. Jawaharlal Nehru
1) 1
(2) 2
3) 3
(4) 4

I 1048 T {6 Haleg Sriepd o1 TR™Y faar 41

1. faraT vy

2. TEEAY SR

3. SI. Faqc! ATHYH
4. AT A8

1) 1




(2 2

3) 3

(4) 4

1[Option ID=24401] Question Description : adult_education_adult education_setl_english_q26
2[Option ID=24402]

3[Option ID=24403]
4[Option ID=24404]

Sl. No.27
QBID:146027

Sriniketan programme was started in Bengal in the year :

. 1908
. 1918
. 1928
. 1938
(1) 1
(2) 2
(3) 3
(4) 4

aa § Fifdra Srded [ ay UR™ g3

U DR N

. 1908
. 1918
. 1028
. 1038

1 1
) 2
3) 3
(4) 4
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1[Option ID=24405] Question Description : adult_education_adult education_setl_english_q27
2[Option ID=24406]
3[Option ID=24407]
4[Option ID=24408]

Sl. No.28
QBID:146028

Which is not a component of the Farmer’s Training and Functional Literacy programme?

1. Farmers Participation
2. Functional Literacy
3. Farm Product Marketing
4. Farm Broadcasting
1) 1
(2) 2
(3) 3
(4) 4

frafafad & T o foam ufdign iR saias JeRd SRiHH o e 3a9d 7ol 82

1. el &1 Uriler
2. SIS FERAT
3. PN IAIE DT fagu
4. PIY-THRY

1) 1

(2) 2

3) 3

(4) 4

1[Option ID=24409] Question Description : adult_education_adult education_setl_english_q28
2[Option ID=24410]
3[Option ID=24411]
4[Option ID=24412]

Sl. No.29
QBID:146029




Affective skills are concerned with :

. Physical abilities

. Developing and increasing knowledge
. Change in attitude

. Change in knowledge domain

1) 1

(2) 2

3) 3

(4) 4

qyTd BIYEl o1 gra fhad g2
1. IR ifae dirgand

2. I &1 i 3R sl
3. sifigfa & ufkadH
4.3 P &7 F gikad=

1) 1

) 2

@) 3

4) 4
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1[Option ID=24413] Question Description : adult_education_adult education_setl_english_q29
2[Option ID=24414]
3[Option ID=24415]
4[Option ID=24416]

Sl. No.30
QBID:146030

Quality of Life Improvement programmes are part of :

. Total Literacy Programmes

. Post Literacy Programmes
3. Continuing Education Programmes
4. Individual Interest Programmes

1) 1

(2) 2

(3) 3

(4) 4
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(1) 1

() 2

3) 3

(4) 4
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1[Option ID=24417] Question Description : adult_education_adult education_set1_english_q30
2[Option ID=24418]
3[Option ID=24419]
4[Option ID=24420]

Sl. No.31
QBID:146031

UNESCO launched ‘Asia Pacific Programme of Education for All” in the year

1. 1986
2. 1987
3.1990
4, 1992
1) 1
(2) 2
3) 3




(4) 4

%! A for ol gaas fere fRien &1 uitrn Ut Srisa S fam

. 1986
. 1987
. 1990
. 1992
(1) 1
(2) 2
3) 3
(4) 4

e L b2

1[Option ID=24421] Question Description : adult_education_adult education_setl_english_q31
2[Option ID=24422]
3[Option ID=24423]
4[Option ID=24424]

Sl. No.32
QBID:146032

The critical life skills include

1. Disaster Management
2. Commercial Skills

3. Yoga and Exercise

4. All of the above

(4) 4

G E Silg— HIga § 9 gifad & -

. U] GaR A
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(1) 1

) 2

3) 3

4) 4
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1[Option ID=24425] Question Description : adult_education_adult education_setl_english_q32
2[Option ID=24426]
3[Option ID=24427]
4[Option ID=24428]

Sl. No.33
QBID:146033

learning style is to be able ‘to see the point of something .

. Activist

. Theorist

. Reflector

. Pragmatist
(1) 1

(2) 2

3) 3

(4) 4
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(2) 2

(3) 3

(4) 4

1[Option ID=24429] Question Description : adult_education_adult education_setl_english_q33
2[Option ID=24430]

3[Option ID=24431]
4[Option ID=24432]

Sl. No.34
QBID:146034

Life cycle model of HRM does not include

. Start-up

. Growth

. Cost reduction

. Maturity and decline

O B R

(1) 1
(2) 2
(3) 3
(4) 4

U9 3R UH & Silg-9% Asa # g & § o-ar mita 781 8 -
1. we-31

g
AT § Sl
4. 9T ar 3R fiRTae
1 1
@2 2
3) 3
(4) 4
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1[Option ID=24433] Question Description : adult_education_adult education_setl_english_q34
2[Option ID=24434]
3[Option ID=24435]
4[Option ID=24436]

Sl. No.35
QBID:146035

Andragogy as a teaching learning approach is a

. Didadic Approach

. Socratic Approach

. Facilitative Approach

. Experimental Approach

R O R

(1) 1
(2) 2
3) 3
(4) 4

TGS T 180 St 3P & w9 # FE I P S -
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1
2
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4

1[Option ID=24437] Question Description : adult_education_adult education_setl_english_q35
2[Option ID=24438]
3[Option ID=24439]
4[Option ID=24440]

Sl. No.36
QBID:146036




Theory explaining how media system should work in order to conform to or realize a set of ideal social values.

1. Normative media theory
2. Mass Communication theory
3. Post Posttivist theory
4. Cultural theory
1) 1
(2) 2
3) 3
(4) 4

a5 IYEid o Ty &l ¢ & siexl 1o Jedi &1 UTaH S+ 91 376 Ui S & fad Hiisar yomed &1
S BT B! AR, BH-AE -

. eRie Hifsar i
. IR-Udeare] Ngid
(1 1
2) 2
3) 3
(4) 4

da 2 b2

1[Option ID=24441] Question Description : adult_education_adult education_setl_english_q36
2[Option ID=24442]
3[Option ID=24443]
4[Option ID=24444]

Sl. No.37
QBID:146037

The theory of language which challenged the existing models of language by focusing on the social and
ideological aspects of language use 1s known as

. Heteroglossia

. Vernacular literacies

3. Literacy as social practice
4. Translanguages

ko —

(1) 1
(2) 2
(3) 3
(4) 4

YIS 1 G5 RFGid fore- HTST TaI & Qo SR Ja1e Jeqs IR @H diad dd HTHl & Aleal
arsdl Bl g 31, FEA§ -

1. fEeRraiaan
2. 320 aicl weRar
3. TS YY1 & &Y O HI&R
4. gHECdo
(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=24445] Question Description : adult_education_adult education_setl_english_q37
2[Option ID=24446]

3[Option ID=24447]
4[Option ID=24448]

Sl. No.38
QBID:146038




Which of the following tasks is not served by performance appraisal system?

1. To assess the training needs of employees
2. To effect promotions based on competence and performance
3. It 1s used to determine major HR programmes such as training, transfer etc.
4. Deciding about legal procedures
1) 1
(2) 2
3) 3
(4) 4

HRITSIIE Yedicr omell § FafdiiEd o ¥ ®1H-91 $1] 961 gidl 82
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(1) 1

(2) 2

3) 3

(4) 4

e 2 b2

1[Option ID=24449] Question Description : adult_education_adult education_setl1_english_q38
2[Option ID=24450]
3[Option ID=24451]
4[Option ID=24452]

Sl. No.39
QBID:146039

The concept of new factory in entrepreneurship means

1. Promotion of entreprencurship in an organization which is conventionally highly structured
2. Entrepreneurial Innovations which are risky
3. Creating profitable venture outside the structured environment
4. Govt. funded ventures
(1) 1
(2) 2
3) 3
(4) 4

FrRfitaar & U FREH P YheaT o1 S /T -

1. foreft dvres & Sermefiarar &1 Had= o URRe w9 9 9o WA §
2. ST TR S SHREH €1 €
3. TR GTATaRUT H €163 A4S SerH giord &1
4. PR ¥ fo diftid 3=
1) 1
) 2
3) 3
4) 4

1[Option ID=24453] Question Description : adult_education_adult education_setl_english_q39
2[Option ID=24454]
3[Option ID=24455]
4[Option ID=24456]

Sl. No.40
QBID:146040

Constructivist theories focus on the process by which learners?

. bridge the gap between the historical state of the activities
. define as internalization the norms of a social group

. build their own mental structures

. take social interaction into account

(1) 1

) 2

3) 3

U PO N




(4) 4

TETEl Riga 39 uithar iR =<iia & forg 4 o faramdf

1. TTfafafer & e & uleite gt 3 WRd €
2. T4l Qo THE &1 ST &1 e UiadH §-1d &
3. 3] TS WRE BT TR $ ©
4. IS 3OO B & § T8 ©
1) 1
2) 2
3) 3
4) 4

1[Option ID=24457] Question Description : adult_education_adult education_set1_english_q40
2[Option ID=24458]
3[Option ID=24459]
4[Option ID=24460]

Sl. No.41
QBID:146041

The principles of programme planning are :

A. It should be based on felt needs of the people

B. The programme should be in written proforma.

C. It should include only the leaders of the community.

D. It should include collection of facts and figures.

E. It should be flexible and it must have definite plan of work.

Choose the correct answer from the options given below :

(4) 4

S FgeH & g g -

A UE ATl gR1 HEHH B 715 HaHdlsl U= TR g1 F1gU|

B. B% Y fafad U=y & g1 =91ieu|

C. 3UH dad YIS A1l o Gifed foar o =gyl

D. 594 qul 3R sies! & afefe fdar o= =nfeu)

E. O8 adial i1 9ot 3R 59 o1l deeht g oo sEwg grdt gl

i fdu U fasedl 1 3§ 98! 3R &1 994 Pifoiu|

1.Pad A, B, C
2.PAA A, D, C
3.%4dd A.B.C.D
4. PATA.B,C.E

(1) 1

(2) 2

3) 3

(4) 4

1[Option ID=24461] Question Description : adult_education_adult education_setl_english_q41
2[Option ID=24462]
3[Option ID=24463]
4[Option ID=24464]

Sl. No.42
QBID:146042




Andragogy asserts that adult learn best when :

A. They feel the need to learn.

B. They have some input into what, why and how they learn.

C. The learning's content and processes have a meaningful relationship to the learner’s past experience.
D. There experience is used as a learning resource.

E. Create mechanisms for mutual planning.

Choose the correct answer from the options given below :

1. A B.Conly
2.B.C.Donly
3.A.B.C.D only
4.A.B.C.D.E

(1) 1

(2) 2

3) 3

(4) 4

TSHI 76 59 IR 99 odl & (& oI JaiH dxid ¥ 9ad &, oid
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E. d URRS (IS & 7T o= &1 goi- &d ©

=t fau U faseul § 9 gl 3R &1 99+ difui|

1[Option ID=24465] Question Description : adult_education_adult education_setl_english_q42
2[Option ID=24466]
3[Option ID=24467]
4[Option ID=24468]

Sl. No.43
QBID:146043

The content of technology is based on the following assumptions:

A. Teaching skills can be developed by feed back devices.

B. Teaching is an art.

C. Teaching has two major components like content and communication.
D. Learning depends on teaching.

E. The desired learning generated by appropriate teaching situation.

Choose the most appropriate answer from the options given below :

1.C.D and E only
2.B. C and E only
3.A Cand E only
4. A, B and D only

(1) 1

2) 2

(3) 3

4) 4
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1.HaAC.D3RE
2. %9 B, C 3ARE
3. PadA, C 3RE
4. BT A, B AR D

(1) 1

) 2

(3) 3

(4) 4

1[Option ID=24469] Question Description : adult_education_adult education_setl_english_q43
2[Option ID=24470]
3[Option ID=24471]
4[Option ID=24472]

Sl. No.44
QBID:146044

When is counseling required?

A. The student needs to release his'her depression.

B. The student needs reliable information with interpretation to meet own personal difficulties.

C. The student needs to need to select right career.

D. The student needs a wise listener with broader experience than his/her own to whom he/she can recount
his’her difficulties.

E. The student needs to get a job.

Choose the most appropriate answer from the options given below :

. A and B only
.Band C only
.C and D only
.B and D only
1) 1
2) 2
(3) 3
(4) 4

QY & d a0 gidl & a?

A faenfial gR1 o srawre e S snawys Bl

B. faendl & fou faye-iia Y= siiaxygd g, foray a8 a0 {0+l Bié-1gdi g @3- & 101U ouRel &
b |

c. faenfifal grTue HRaR &1 9 TR IS gl

D. faenf & fou ue §fEam diar snawae g1, o d I9e! o § a19e, 3d 3@dl ol diid a8
YA DISAGT T 1 9b |

E. B1F & 010 Us Fiws) U ST A9 8l

1 f4u e fomenl 9 9 Iugad IR $1 99 DUl

1.Had A 3R B
2.FFAB IR C
3. HadC IR D
4. HIABIRD

(1) 1
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(2) 2

(3) 3

(4) 4

1[Option ID=24473] Question Description : adult_education_adult education_setl_english_q44
2[Option ID=24474]

3[Option ID=24475]
4[Option ID=24476]

Sl. No.45
QBID:146045

Frank Lauback philosophy of adult education had three cardinal points. They are :

A. Literacy for self reliance.

B. Literacy for Liberaton.

C. Literacy for equality.

D. Literacy for self development.
E. Literacy for enjoyment of rights.

Choose the most appropriate answer from the options given below :

A.B.E only
A.B, Conly
A, B.Donly
.B.C.D only
1) 1
(2) 2
3) 3
(4) 4

U Tila® & Uig R e § aa ma g 9138 :

A. 3 FRar & foro reran

B. fad & fo1g WigRar

C. JHHA & fog TmeRan

D. W-fdh™ & fou reRdn

E. USRI & IugT & fo7d FieRdm

1= fau e fawedl § € 9l Sugad So) &1 999 Hifou|

1[Option ID=24477] Question Description : adult_education_adult education_setl_english_q45
2[Option ID=24478]
3[Option ID=24479]
4[Option ID=24480]

Sl. No.46
QBID:146046




Which of the following are the major objectives of the cumulative record cards?

A. To maintain the school.

B. To help the parents.

C. To need information about children for guidance and counseling.

D. To evaluate students’ various potentials, limitations and achievements.
E. To help the teachers.

Choose the most appropriate answer from the options given below :

A, Cand D only
.B.D and E only
.C.D and E only
.A,Dand E only
(1) 1
(2) 2
(3) 3
(4) 4

Fafafea ¥ 3§ e v el o159 & T seg &2

A. foTmea & srRemn (@) & forg

B. A1A1-fUd1 &1 Teradl B0

C. =1 & AN iR WMLl & IR ¥ G2 B S1axgddl & oy

D. faenidal &t fafia Suredrafl, Hmmell SR Sudfer & geid o fay
E. e &1 ggraal & e

419 fSu Tt fasedl O § a9 SUgE SR &1 98- Hifu|

1. BAA A, C AR D
2. H3dB,DARE
3.%ddC, D ARE
4. FAAA,DIRE

a1

) 2

@3) 3

(4) 4
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1[Option ID=24481] Question Description : adult_education_adult education_setl_english_q46
2[Option ID=24482]
3[Option ID=24483]
4[Option ID=24484]

Sl. No.47
QBID:146047

Observe the statements given below of choose the correct option choice demonstrating teacher centric method.

A. Get as many people in the group as possible to participate and discuss their views in a group.

B. Small groups encourage participation by all members of the class and may help in the process of
reflection.

C. Carefully prepared sequence of questions drawing learners knowledge.

D. Theme set by the teacher and discussion is initiated gradually encouraging the pupils to contribute.

E. Help proteges to retlect on their practice, learn from experience of improve to gain experiences.

Choose the most appropriate answer from the options given below:

.A,D.E only

.B. C.D only
3.A.C.Donly
4. C. D, E only

(1) 1

(2) 2

(3) 3

(4) 4

|




4 3T 71U ST @1 siaaie B ol SR Rige- sl [l &1 vaw= =7 o 9l fdew i ghu

A et wme o 9= & for f9aR veq g oyl 9vd e 9 oifYe al & yrliert 9Rfya s
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C. Wi &1 H Heityifa TR T o for siftaal & I3 BT IRE &1

D. e g1 i favg sik 39 IR 4R-4R =i 3Ry gicht © foraes werawsy farsg &t srg+t |/1d
PE- DI AR Al & _

E. 399 YT Afdl &1 39 31ag BT - &3, HIHd 8 WrE- 3R U 39yd 1§ GuR &3 o
Teradr fHadi

419 fSU Tt fapedl O § 9ad SUgE SR &1 98- Hife|

1.Pdd A D.E
2.$ddB.C.D
3. ®AUA.C.D
4.PAAC.D.E

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=24485] Question Description : adult_education_adult education_setl_english_q47
2[Option ID=24486]
3[Option ID=24487]
4[Option ID=24488]

Sl. No.48
QBID:146048

Which of the following are the audio teaching aids?

A. Television

B. Chalk boards
C. Radio

D. Record Player
E. Models

Choose the most appropriate answer from the options given below :

.C and D only
.B and C only
.D and E only
.Aand C only
1) 1
2) 2
3) 3
(4) 4

fagifeed § O o1 Yo e Suau g 2

A. cdifdeq
B. A& a8

c. dfean

D. Red-wmw
E. HiSd

B

419 f3U Tt faedl O § 9ad SUgE SR &1 98- Hifeu|

1.%ad C IRD
2. HIAB AR C
3. PIAD ARE
4. FIAAARC

(1) 1




(2 2

3) 3

(4) 4

1[Option ID=24489] Question Description : adult_education_adult education_setl_english_q48
2[Option ID=24490]

3[Option ID=24491]
4[Option ID=24492]

Sl. No.49
QBID:146049

Humphrey and Traxler state that the aims of guidance are -

A. to develop the ability to make his own decisions
B. to solve the problems of others

C. to understand himself

D. to adjust himself satisfactorily

E. to analyse the job

Choose the most appropriate answer from the options given below :

1. A. B and C only
2. A, Cand D only
3.C.Dand E only
4. A.Dand E only

(1) 1

(2) 2

3) 3

(4) 4

THP 3R TR F IR AFfeR— & T © :

A. 3 WY & ofg 94 3 aradr faesfag s
B. 30 SGad! & THWI3M & §d T

C. 390 & gagl

D. W4 &l d¥eHS &4 4 JErifod &0

E. B4 &1 faasor &1

1= feu e faeedl § € 9ad Sugad STk &1 999 Hifou|

1.HIATA,BIRC
2. HBIAA, C AR D
3.%4dC.DIRE
4. PAAA. DIIRE

1 1

2) 2

3) 3

(4) 4

1[Option ID=24493] Question Description : adult_education_adult education_setl1_english_q49
2[Option ID=24494]
3[Option ID=24495]
4[Option ID=24496]

Sl. No.50
QBID:146050




The Sakshar Bharat Mission aims to facilitate :

A. Empowerment

B. Economic development

C. Transformation

D. Application of literacy skills

E. Reduction of gender gap in literacy

Choose the most appropriate answer from the options given below :

1.A B, Conly
2.A.B.Donly
3.A.B.D.E only
4. A, C,D.E only

(1) 1

(2) 2

(3) 3

(4) 4

FIeR-URd T FTSeg g -

A gRfgaHR0

B. 3@ fa@mmg

C. FURT

D. HI&RTI-DIA BT HHAN

E. &R H AfGa-J3Y &1 §=01 & 3k # Bl

419 feu Tt fasedl O § a9 SUgE SR &1 98- Hifu|

1.Pdd A B.C
2. $dd A B.D
3. %AW A B.D.E
4. PAAA.C.D.E

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=24497] Question Description : adult_education_adult education_setl_english_q50
2[Option ID=24498]

3[Option ID=24499]
4[Option ID=24500]

Sl. No.51
QBID:146051

The concept of Social Education can be :

A. Education for a desirable change.

B. Education for betterment of individual, social, economie, political and moral life.
C. Education which enables a community to assume direction of its own development.
D. Education for better work, better rest. better use of leisure and better recreation.

E. Education for all.

Choose the most appropriate answer from the options given below :

1. A and B only
2. A, Band Conly
3.A.B.CandD only
4. A,B,C,D.E

1) 1

(2) 2

3) 3

(4) 4




T8 B HGYRUN S Gl & -

A. Gi-1a gftad & feru fRren

B. dfade®, I, s, IAeiiae 3R Afde Sia- o1 dgar &1 & o fran
c. faren Fored ggem o1 307 Wi & fopra 6t fawn v o< & o et @
D. 56K &Y, 9ok 3R [AYidHa &1 9% S9N 3R 8% TR

E. 9t cufdaat & foro fran

4 f3u e fomenl & 9 9 Iugad TR o1 99 DUl

1.BPad A, B
2. BIAA, B, C
3. WAWA,B.C.D
4.A,B,C.D.E
(1) 1
) 2
(3) 3
(4) 4

1[Option ID=24501] Question Description : adult_education_adult education_setl_english_q51
2[Option ID=24502]
3[Option ID=24503]
4[Option ID=24504]

Sl. No.52
QBID:146052

Extension Education is an applied science consisting of content derived from

A. Research

B. Accumulated field experience

C. Relevant principles drawn from the behavioural sciences
D. Community participation

E. The problems of out of school adults and youth.

Choose the most appropriate answer from the options given below :

. A, B and C only
A, Cand D only
A.B,CandE only
. A, B. Cand D only
1)1

2) 2

(3) 3

4) 4

TR e U e fasm € o ey fawoesg Foifea S ogawsu ®

A XY

B. Y9fgd &Eitg-3rHa

C. EEIRS T ¥ Igyd I71d Hzia

D. YIS HIfleR’l

E. foenam 9 e Wig SR garsii &1 wawmn

419 feu Tt fasedl § 9 9ad SUgEH SR &1 98- Hifeu|

1. PaT A B IR C
2. HBIAA, C AR D
3. PdAA, B, CIRE
4. PATA, B, C AR D
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@ 2

3) 3
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(4) 4

1[Option ID=24505] Question Description : adult_education_adult education_set1_english_q52
2[Option ID=24506]
3[Option ID=24507]
4[Option ID=24508]

Sl. No.53
QBID:146053

Which of the following are the characteristics of counselling?

A. Tt does not consider breadth rather than depth.

B. There must be a recognition of socio-economic variables.
C. There must be a cooperative relationship.

D. Counselling concentrates on the normal.

E. For a counsellor, psychology should be the sole basis.

Choose the most appropriate answer from the options given below :

.B. Cand D only
.C.D and E only
.A.Band Conly
.A.Band D only
1) 1
(2) 2
3) 3
(4) 4

R & A g -

A. STH A 1 §9d A9&al U1 faaR Fal fear sar g
B. grifsre- 3nfifer uftad @1 arar g =g Ul

C. TEPRI Iay HFHard g

D. WY &t Uftean H g W o Hiad fear s gl
E. T E1a1 & fore w=ifas= U O3 SnuR e el

1 feu Y fdeedl § € 9ad Suged SOk 1 99 o]

1.HAAB, C 3R D
2. FFAC, D IARE
3. PITA, B3R C
4. BT A, BIARD

(1) 1

) 2

(3) 3

(4) 4
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1[Option ID=24509] Question Description : adult_education_adult education_setl_english_q53
2[Option ID=24510]
3[Option ID=24511]
4[Option ID=24512]

Sl. No.54
QBID:146054

While preparing Teaching-Learning material. one should take care of -

A, Learner’s interest and needs.

B. Relevance with national goals.
C. More emphasis on self learning.
D. Teacher centred.

E. Examination schedule.

Choose the most appropriate answer from the options given below :

A. B and C only
.A, Cand D only
. B.D and E only
. A.D and E only

il et




(1) 1
(2) 2
(3) 3
(4) 4

fRrerurfenTs et UR &4 & $H § g 91al S e @1 9 91eu|

A, JftrHEal ot il sk smawgsar
B. YYTT &l & JrY T

C. HTH-HTTH | T TR

D. eAIS-Hiad

E. U187 &1 STa-FHeiRo
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1. HIT A, BIARC
2. HATA, C AR D
3.%dd B, D 3R E
4. PTATA,D IRE

1) 1

@ 2

(3) 3

(4) 4

1[Option ID=24513] Question Description : adult_education_adult education_setl_english_q54
2[Option ID=24514]
3[Option ID=24515]
4[Option ID=24516]

Sl. No.55
QBID:146055

Which among the following are the sources of Ethics?

A. Peer Group
B. Religion

C. Culture

D. Technology
E. Environment

Choose the most appropriate answer from the options given below :

1. B and C only
2. A and B only
3.Dand E only
4. Aand C only

(1) 1

2) 2

(3) 3

4) 4

Fofrad e smaRF I T :
A. GO TS
B.
S e
E. TaiaR0l
419 feu Tt fasedl © § 9a¥ SUgE SR &1 99 S|
1. ®ad B AR C




1)1

(2) 2

(3) 3

(4) 4

1[Option ID=24517] Question Description : adult_education_adult education_setl_english_q55
2[Option ID=24518]

3[Option ID=24519]
4[Option ID=24520]

Sl. No.56
QBID:146056

Thomas R. Malthus developed principle of population on following points:

A. The increase in population is limited by the means of subsistence.

B. Population if left unchecked, could double itself every twenty-five years.

C. Population increases when the means of subsistence increase.

D. Malthusian prineiple states that population tends to grow slower than the food supply.

E. When population is unchecked it increases in arithmetical ratio and subsistence increases in geometrical
ratio.

Choose the most appropriate answer from the options given below :

.A.B.Donly
.A.B.Conly
.A,B.E only
.C.D. E only
1) 1
2) 2
3) 3
(4) 4

A 3R ATy = Faifed fTgaefl & snuR w s-e &1 fugid s .

A. e 91 oftae-Fafe & wrem € Sfra g €
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193U Tt fasedl O § 9ad SUga SR &1 98- Hifeg|

1. bdd A.B.D
2. BdAAB.C
3. BAUA.B.E
4.PAAC.D.E

(1) 1

) 2

(3) 3

(4) 4
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1[Option ID=24521] Question Description : adult_education_adult education_setl_english_q56
2[Option ID=24522]
3[Option ID=24523]
4[Option ID=24524]

Sl. No.57
QBID:146057




Types of counselling are -

A. Eclectic counselling

B. Psychometric counselling
C. Directive counselling

D. Informal counselling

E. Non-Directive counselling

Choose the most appropriate answer from the options given below :

1. A B and D only
2. A, CandE only
3.B.CandE only
4. C,D and E only

(1) 1

2) 2

(3) 3

4) 4

RS F TPRE -

A, TEUTiE ARt

B. Ao ot
c. Fexmers wmef
D. TS GRE
E. 3-[FeRmes e

419 feu Tt fasedl O § a9 SUgE SR &1 98- Hifu|

1. Bad A, B AR D
2. BT A, CARE
3. PdAB, C ARE
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3) 3

(4) 4

1[Option ID=24525] Question Description : adult_education_adult education_setl_english_q57
2[Option ID=24526]
3[Option ID=24527]
4[Option ID=24528]

SlI. No.58
QBID:146058

Entreprencurial perspective focuses immensely on :

A. Creating an organization that would not exist without you.

B. Seizing upon an opportunity to solve a problem or provide a desired service.
C. Requires understanding of social. political. legal and environmental forces.
D. Bent towards enhancement of goods and services.

E. Results in sustainable surplus cash flow.

Choose the most appropriate answer from the options given below:

1.A.B.E only
2. A, C,Donly
3.A.D.E only
4.B, C, E only

1) 1

(2) 2

(3) 3

(4) 4
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1[Option ID=24529] Question Description : adult_education_adult education_set1_english_q58
2[Option ID=24530]
3[Option ID=24531]
4[Option ID=24532]

Sl. No.59
QBID:146059

Which among the following are student centred group teaching methods?

A. Demonstration
B. Brainstorming

C. Buzz-groups

D. Lecture

E. Group discussion

Choose the most appropriate answer from the options given below :

.A.B.E only
.B. C. E only
.A.C,Donly
.C.D, E only

L D =

1) 1
(2) 2
(3) 3
(4) 4

Fafifad 3 S oH o Siea ags e it g

A feef

B. [dar-dy=

C. o (F°)-3 8
D. T&IH

E. §hg-gaf

- fau 7T famen! ¥ 9e! SR @1 99 DIty

1.BAAAB.E
2. Pad B, C.E
3. BATWA.C.D
4. HAAC.D.E

(1) 1

2) 2

3) 3

(4) 4




1[Option ID=24533] Question Description : adult_education_adult education_setl_english_q59
2[Option ID=24534]
3[Option ID=24535]
4[Option ID=24536]

Sl. No.60
QBID:146060

The major Departments to be involved in the implementation of New India Literacy programme (2022-27) are

A. State/UT administration

B. National Institute of Open Schooling
C. State Centre for Literacy in SCERT
D. National Informatics Centre

E. Samajik Chetna Kendras

Choose the most appropriate answer from the options given below :

.A.C.Donly
.A.B.E only
.A.B.C.Donly
.A.B.C.E only
(1) 1

) 2

3) 3

(4) 4

FAURd FERAT PIUDH (2022-27) P [obu-ag- H i g1 aTdd W [qUrTg -
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19 14U T fasedl § 9 Had SUgaR TR &1 98- Hifog|

1.PAd A C.D
2. PdAAB.E
3. BAAAB.C.D
4. DA A.B.C.E

1)1

(2) 2

(3) 3

4) 4

1[Option ID=24537] Question Description : adult_education_adult education_set1_english_q60
2[Option ID=24538]

3[Option ID=24539]
4[Option ID=24540]

Sl. No.61
QBID:146061

Which of the followings are the major aspects of Educational Technology?

A. Infrastructure

B. Input

C. Internet

D. Output

E. Learning process

Choose the most appropriate answer from the options given below :

A.Band D only
.B.D and E only
.A, CandE only
.B. Cand D only

el




(1) 1
(2) 2
(3) 3
(4) 4

RrRied § § PH-3 e ao-a & vgE a2 2
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D. frfg
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1.Had A, B AR D
2. HAAB. D IIRE
3.Pdd A C 3RE
4.%a@B, C 3RD

(1) 1
(2) 2
3) 3
(4) 4

1[Option ID=24541] Question Description : adult_education_adult education_setl_english_q61
2[Option ID=24542]
3[Option ID=24543]
4[Option ID=24544]

Sl. No.62
QBID:146062

The factors affecting Adult motivation are

A. Incentives

B. Anxiety

C. Vigour and drive for self actualisation
D. Mobilising the will to work

E. Quality of environment

Choose the most appropriate answer from the options given below :

A.B.Conly
.A.B.Donly
.A.B.C.Donly
.A,B,C,D,E
(1) 1

(2) 2

3) 3

4) 4
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1)1

(2) 2

(3) 3

(4) 4

1[Option ID=24545] Question Description : adult_education_adult education_setl_english_q62
2[Option ID=24546]

3[Option ID=24547]
4[Option ID=24548]

Sl. No.63
QBID:146063

According to UNESCO, recognition of the right to learn includes

A. The right to read and write.

B. The right to imagine and create

C. The right to have access to educational resources
D. The right to develop individual and collective skills
E. The right to question and analyse

Choose the most appropriate answer from the options given below :

A. B only

.A, B, Conly
LA B.C.D only
CAB.C.D.E
(1) 1

2) 2

3) 3

4) 4

D] & TR HIWH & SR &I Arar § 9iifad g :
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1. bdd A B
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3. BAAAB.C.D
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(1) 1
2) 2
3) 3
(4) 4
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1[Option ID=24549] Question Description : adult_education_adult education_setl_english_q63
2[Option ID=24550]
3[Option ID=24551]
4[Option ID=24552]
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Reflective learners who like to learn by -

A. Favour an active participation in learning process

B. Want practical tips and techniques from someone with experience before acting.
C. Watching others

D. To understand the theory and have a learn grasp of what it means before the act:
E. To think about things before they act.

Choose the correct answer from the options given below :

. A and B only
. C and E only
.D and E only
.B and C only
(1) 1
(2) 2
(3) 3
(4) 4

fide sifirmreal o [gifed Arery 9 SReT 9ed § -

A, SITHITH Uik ® Jishy HRTGRIBT Uaf T

B. P &3 9 Ud [t 3rvd! oufa 9§ orastig fad (i) SR da-ie o1
C. 30 Al B a1l

D. 1 S ¥ Ud sid SR 3HS AW &1 IH |

E. &1 &3 9 4d el & gR 8 FieT |

i fSu U f[asedl O ¥ Hel 3R &1 994 HIIU -

1. Had A 3R B
2. Had C ARE
3. PdAD ARE
4. FFAB AR C

1 1

) 2

3) 3

(4) 4

S O

1[Option ID=24553] Question Description : adult_education_adult education_setl1_english_q64
2[Option ID=24554]
3[Option ID=24555]
4[Option ID=24556]

Sl. No.65
QBID:146065

Universal forms of body language

A Facial Expression
B. Raised eyebrows
C. Active listening
D. Eye-to-eye contact
E. Courtesy

Choose the correct answer from the options given below :

1.B,C,E only
2.A.B.Eonly
3.B.C.Donly
4. A B.D only

(1) 1

(2) 2

3) 3

4) 4




Gopd HINT & JAUTH WET B -

NG SR
B. 1 g% 4Pl

C. Ifehg Hau

D. 3@ ¥ 31g fiare: a1d s
E. fgmgan

= feu U fawedl § € 9l IUgad STk &1 98- S|

1. PAdB.C.E
2. BAAAB.E
3.4 B.C.D
4. Pdd A B.D

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=24557] Question Description : adult_education_adult education_setl1_english_q65
2[Option ID=24558]
3[Option ID=24559]
4[Option ID=24560]

Sl. No.66
QBID:146066

Match List I with List IT

LIST I LIST II
A |Educational Purposes I |Useful in attaming objective

Necessity of objectivity and

B. |Learming Experiences 1L Reliabikity
. |Organization of Learning Studies of contemporary life outside
B & III. ¥
[Expeniences the school
D [Evaluation of Learning v Sequence in the development of skills

" [Experiences " Jin social studies

Choose the correct answer from the options given below:

1.AT B, CGIV, DO
2.AHE B, CIV D
3. AJIIl, B-IV, C-II, DI
4: AJIV, B0 OOy DA

(11

(2) 2

3) 3

(a) 4

il 1 1 =i 11 9 e sife

T I T
_ [gifé® warer 1. [3e=af & urfta & Suarft
ST @ AT 11 [GEqR®dl 3R AT @ SHa=g®dl
e Haidil 3Hd &1 [0 | 11 [[9ead € a1g3 91 sl ol 380
|erferms e aya &1 o] IV [99TS S0 | &iRid [ @1 S

14U U fasedi O 4 98! SR &1 994 Pl :

A, B-IL C-IV, D-II
AR BE GV, D
CAJIL, B-IV, C-I, DI
ATV, Bl CAII, DA
1) 1
(2) 2
(3) 3

ol [ol f==] =3

[

e




(4) 4

1[Option ID=24561] Question Description : adult_education_adult education_setl1_english_q66
2[Option ID=24562]
3[Option ID=24563]
4[Option ID=24564]

Sl. No.67
QBID:146067

Match List I with List IT

LISTI LIST IT

Identifies the attitudes of people by their

. [concerns-concerns for people against their
foncern production achievement

Vodel raises the concept of four paned

B. |Herzberg Approach | II. [window reflecting various aspects of
behaviour

[[wo tvpes of basic needs maintamance or

Maslow's hierarchy
] I
of needs

Robert Blake and

E. Jane Mounton . hyoiene factor and the motivational need
lJohart Window . |Survival, safetv, emotional, self esteem, self
D. Iv. -
imodel actualisation

Choose the correct answer from the options given below:

1. Ad, BV, C.JIO, D-IT
2.AJV, B, C-II, D-II
3. AIV, B-I, C-, D-II
4. AV, B-II, C-I, DI

1) 1

) 2

(3) 3

(4) 4

Yail-1 & 91y GAl-11 BT e Sy

T 1 T I
0%l &1 3a=addl ¢ SYH Al &1 HTHGRA! UgdH 30 WIBGR 3 Al &
" [gaE o " [ WP 1 399 (095 & UG & Wi g
YA | IR Yoddlcl Rasd! &l SayRUT & of ddeR
B. [gviel 8 I & fafae veqei &1 oReféa e 21
NeC =06 AR |, | T ARG Ha=gardia & o YoR, W 1
B " fEEE PR® R TS ORG

e FaTSliiadl. WA UIadTdddl AT Y, -
D. |Sigr e atsa v - : :
PRGN

i fau U fased! § O Uel 3R &1 904 S

1AL, BIV, CII, DO
2.AIV, B, ¢, D-II
3. AJIV, B-IlI, CI, D-II
4. AV, BJIO, C-I, DI
1) 1
(2) 2
(3) 3
4) 4
1[Option ID=24565] Question Description : adult_education_adult education_set1_english_q67
2[Option ID=24566]

3[Option ID=24567]
4[Option ID=24568]

Sl. No.68
QBID:146068




Match List I with List IT

LIST1

LIST I1

[Fombrun, Tichy and
A [Devanna Model of I

[Empharises sequence of six components (HE
outcome, behavioral outcome, performance

[HR M results, Financial consequences)
[The preposition centers around five elements
B. Harvard Model II. f1e. outer context, mner context, business
kontent, MBM content and HRM content
Talks four functions (section appraisal.
C. |Guest Model IT1. [development and reward of their

hnterrelatedness)

D. [Warwick Model IV,

Seeks to compromise six critical components
lof HRM (stakeholder interests, situational
factors, HRM policy choices, HRM outcome
jand long term consequences)

Choose the correct answer from the options given below:

1. AL, B-IV, C,
2. A, BI, CIV,
3400, BV, €1
4 A1, B, C-V,

1) 1

) 2

(3) 3

(4) 4

D-1II

D-II
D-II
D-II

GaI-1 P 1Y GI-11 BT e SIS

GELE

T I

A It ol 2 fsa

[HTa EaTe Ut Bl B HEH,

SHHT IR §9 [0 TR

SO B8 Ued (HIMd S91EH URUIH, de RIS Uiabd di—wie- Uiond 7R [do uiRkom) &

B. [gafs Aisqa

I Hed F e Seaaarel

U3 T U deal (a1 W H, 3 YaH, e oY, AFd STy vay favadsg, THd 9O Uey

C. fredaisa

1L [39H IR YD (o, Hegidh-, AP AR 3] 3id: &l IREPR) Bl a1 Dl 15|

D. [AIfde Hisd

v [F1 ST G G Ude & 98 5 Ul 9ed (RIURS o fod, RUITRS SR®. AMd T1eH
" it fEeed, Hd e gRoTH 3R 2T Siiie TR 3 e B |

i< fau U [ et § O GEl 3R &1 994 PHiforu -

1. A-II. B-IV. C-I. D-III
2.A-III, B-1, C-IV, D-II
3 A-IID, B-IV, C-I. D-II
4. A-1, B-III, C-IV, D-II
1) 1
(2) 2
3) 3
(4) 4

1[Option ID=24569]
2[Option ID=24570]
3[Option ID=24571]
4[Option ID=24572]

Question Description : adult_education_adult education_setl_english_q68

Sl. No.69
QBID:146069




Match List I with List IT

LIST1I LISTII

Thurstone scale | I |The respondent/subject indicates his agreement disagreement and the degree of disagreement

[11 the Guttman procedure a universe of content is considered to be unidimentional only 1f it
[viclds a perfect or almost perfect cumulative scale

Cumulative scale | [I1. [Consists of statements. where position on the scale 1s determined by ranking operation

A
B. [Likert type scale | IT
C.
D.

Guttman v The score places the respondent on the scale of favourable-unfavourable attitude provided by
procedure " [the relationships of the item to one another

Choose the correct answer from the options given below:

{060 Bl eav D
2.AJI, B, C-IV, D-II
3.A-II, B-l, C-I, D-IV
4. A, B, CI, DIV

(1) 1

(2) 2

3) 3

(4) 4

Gail-1 & Q1Y GAI-11 BT He HIforu -
e 1 T

Ul aiad S(U- HeHid/SHeHld Gl & HIR AHeHId BT &R
A lyeTamE | L a2

p |F@ETET | [T Bral H Siqa] FdHTE S @l 901 G Tha- AT

" [T " [ATT S © e S9Y Ul SaT T O S HI9HT U1 B 5
. ST HUF HAAP ol & ol A1 P 1RUTd ST 0| HIGLEH B
o i WﬁWGﬂ?ﬁ%F

. [P Ul B Us 12 Bl gER Ha & HIY JaY gRI UG 3D
D. feR Brifafe | IV Wi SfHgi @1 A9 H 3Ed 2|

i fau U fased! § O Uel 3R &1 904 HIWT

L EE BHE. O DL
2.A-I, B-I, CIV, D-I
AT Bl ORI DEEV
4. A0, B I DIy
1) 1
(2) 2
(3) 3
4) 4
1[Option ID=24573] Question Description : adult_education_adult education_set1_english_q69

2[Option ID=24574]
3[Option ID=24575]
4[Option ID=24576]

Sl. No.70
QBID:146070

Match List I with List IT

LISTI LISTII
A |Goal setting I. |Tend to trv harder or change strategy
B. [Explanation for failure] II. [Focused on developing their ability
C. |Believe in effort IT1. [Believe that with additional effort performance can improve|
D. |[Response to failure IV |Tend to explain failure in terms of lack of efforts

Choose the correct answer from the options given below:

A, B-I, CIV, DI
AL, B-IIL, C-IV, D-I
AJdl, B-IV, C:-M, DI
AT, B, CIV. DIl

da L2 b —

(1) 1
(2) 2




(3) 3
(4) 4

GHI-1 & 1Y Y111 DT e S .

g1 T I

ZEH R BIG WGTH B 3R BRI gGe ol
A | e PR L By

B. |[awdar &1 aaren | 1. | sig-t sfEgigar dgH U 9 ol-ad [hdl ol

o |[FETaRH . [ U1 AT ST € o SHfRad W & ey
B GGG " [t § gUR gl gadl ¢

D, (e & wid v TUH TO &1 D1 & HeH H [hadl & WY 3 @1
_|eria e kit 8l

I fau e fomedl & 9 961 IR &1 997 P -

1. A, BI, CIV, DI
2. 48, Bl €IV, DI
3.AJI, B-IV, C-II, D-I
4. AJI, Bl C.IV, DI

1) 1

) 2

(3) 3

(4) 4

1[Option ID=24577] Question Description : adult_education_adult education_setl_english_q70
2[Option ID=24578]
3[Option ID=24579]
4[Option ID=24580]

Sl. No.71
QBID:146071

Match List T with List IT

LIST I LISTII
. Independent vaniable| I. [Physical characteristics of apparatus
[Dependent variable | II. [Variable manipulated by experiments]
Task variable IT1. [Variable recorded by experiments
. [Extraneous variable | IV [Variable controlled by experiments

w] [o] o= B

Choose the correct answer from the options given below:

AJL, B-II, C-I, DIV
A-L, B-IV, C-TII, D-I
AJIL, B-I, C-IV, D-II
Ad, B, C-II, DIV
(1 1
) 2
3) 3
(a) 4

Gail-1 & Q1Y GAI-11 BT Her Hifor -
g1 T I

PRSI | L | 3ud ot Hilds faRivan
ST TR 1 | JarTedl g1 egwe [T U o3
HUURGd | 1L | WErTdl gR1 ReTs (6T 0 o
EIRER v | marTed! gR1 FEEE =R

i fGU U fadedl © © Hel 3R &1 98- BIfelu :

 AJI, B-IIL, C-I, D-IV
 A-L, B-IV, C-II, DI
AJIL, B-I, C-IV, D-II
AL BI, CII. DIV

b =

L

ofa]w[>

o =

:L‘. LF%)

(1) 1




2 2

3) 3

(4) 4

1[Option ID=24581] Question Description : adult_education_adult education_setl_english_q71
2[Option ID=24582]

3[Option ID=24583]
4[Option ID=24584]

Sl. No.72
QBID:146072

Match List I with List II

LISTI LISTII
Independent variables | I [Randomisation
Dependent variables | II. |Counter Balancing
Carry over effect III. Measurement
Conirol of variables IV, [Active manupulation]

ofafw[>

Choose the correct answer from the options given below:

1.A-IV, B{IL, C-I, D-I
2. AL, B-IV, C-I, DA
3.A-II, B-IV, C-I, D-I
4. ATV, B, CIL D-I

(1) 1

(2) 2

3) 3

(4) 4

GHI-1 & 1Y Y111 DT e S .
T 1 eIt 11

A |Foisg = 1 |aesdta

B. | 3M&d = II. [Afd-dqad

C. | 3mrTg uyE L

D. | =3 &1 g 1v. | fpa sam i

= fau o faeed! § O Uel 3R &1 904 HIWU

1.A-IV, B-II, C-I, D-IT
DA, BIV O D
3.AJI, B-IV, CI, DII
4. ATV, B-III, C-II. D-I
1)1
(2) 2
3) 3
4) 4
1[Option ID=24585] Question Description : adult_education_adult education_setl_english_q72

2[Option ID=24586]
3[Option ID=24587]
4[Option ID=24588]

Sl. No.73
QBID:146073




Match List I with List IT

LISTI LISTII
. |Single sample I [Kruskal-Wallis test
Matched group II. |[Wilcoxon sign test

Two Independent groups | III. [Chi-square test
. PMore than two groups IV. Mann-Whitney U test

w] [o] o= o

Choose the correct answer from the options given below:

1. A-III, B-I, C-IV, D-II
2. AL B-II, C-IV, D-I

3.AIV, B, C-III, D-I
4. AIV, B-II, CI, DI
(1) 1
(2) 2
3) 3
(4) 4

YaI-1 & Q1Y YAI-11 BT Her Hifor -
1 T I

A |vwa giaex! L | greda arfay olaon
B. | gHferd 958 11. | faeep 19 Sigd GRIA
C. | &l RIi%T 9 g 111 | TS a7 aRi&mn

D. | <l ¥4 3i¥® 958 IV, | ATt g wigm

= feu U fasedl O T Uel 3R &1 994 HIeIU ;

1.A-III, B-I., C-IV, D-II
AN, Bl GIV DI
3.AIV, B, C-I, D-II
4. ALV, B-II, C-I, D-III
1)1
(2) 2
(3) 3
4) 4
1[Option ID=24589] Question Description : adult_education_adult education_setl_english_q73

2[Option ID=24590]
3[Option ID=24591]
4[Option ID=24592]

Sl. No.74
QBID:146074

Match List I with List IT

LISTI LISTII
A Piddle childhood | 1. fyears passed 70
B. [Late childhood 11 |12-19 years
C. |Adolescence I |9-12 years
D. |Senescence IV. |5-9 years

Choose the correct answer from the options given below:

1. A1, BI, C-I, DIV
2 A, B-IIL, C-IV., D-I
3.AJIV, B, C-II, D-I
4 AN, BIV, CI, DI

(1) 1

() 2

(3) 3

(4) 4




El-1 & 1Y YI-11 DT e DI :

a0l 1 T 11

A | o araERn I |70 94 @1 o T affdw
B |uy srema=n 1L [ 12T 1998 & &g
C. | piRiaR 111 [0 9 12 99 &1 3G
D. | e V. |5 ¥ o qu &1 Mg
= faw 7Tu famedi H 4 Hel SR &1 98- B ;

1. AL, B-Il, C-II, D-IV

2.AdL; Bl CIV, DA

3.AIV, B-III, CI, DI

4. Ad0, BAV, €4, DI
1) 1
) 2
3) 3
(@) 4

1[Option ID=24593] Question Description : adult_education_adult education_setl_english_q74
2[Option ID=24594]
3[Option ID=24595]
4[Option ID=24596]

Sl. No.75
QBID:146075

Given below are two statements: one is labelled as Assertion A and the other is labeled as Reason R
Assertion A: Awareness develops rationalistic and positivistic spirit among the adult learners.

Reason R: The adult learners need to come out of the clutches of rigid religion, believes and practices.
In the light of the above statements. choose the most appropriate answer from the options given below.

1. Both A and R are correct and R is the correct explanation of A
2. Both A and R are correct and R is NOT the correct explanation of A
3. Ais correct but R is not correct
4. A is not correct but R is correct
1)1
2) 2
(3) 3
(4) 4

H G YA (UL § : U SUHYT (Assertion A) & =9 1 [ARad  dl GRT 39 HRUT (Resason R) P
LR
HTUFY A : TFRESHAl § 905 W& § THafERS AR SRS Yo [de R sidi g

BRI R : T RN BT =g o, fayral 3iR w13 & el & §IeR =1 8|
SWRIF] BYA & dlP 1, H1d [0 U f[deedl § 9 Ugl 3R &1 944 Sl :

A JRRTH TG E IR R AT IE AN E
AR R AT, AfFTR, A BT TSI TRATTRI 8
ATE S AP R SR

AT IR AfeTrR TR

1) 1

@) 2

3) 3

) a

L R R

ey

1[Option ID=24597] Question Description : adult_education_adult education_setl1_english_q75
2[Option ID=24598]
3[Option ID=24599]
4[Option ID=24600]

Sl. No.76
QBID:146076




From ‘Census literacy’ we have grown to higher stages arrange there literacies in order of progress

A, Census

B. Digital

C. Work oriented
D. Functional

E. Development

Choose the correct answer from the options given below :

A-C-D-E-B

1
2A-D-B-E-C
3JA-B-C-D-E
4 A-D-C-E-B

1) 1

(2) 2

(3) 3

(4) 4

SO WIERAT ¥ 58 IR Wl § 959 T 5. 5791 WIERd] B 3% JaiTH & $H & ogared
FIE|

A ST
B. f&fored

c ﬁnﬂﬂg@
E ﬁfﬁm
i fau U fadhedl © § Hel 3R &1 98- Bifolu -

CA—

C-D-E-B
-D-B-E-C
—-B-C-D-E
-D-C-E-B

e S
&D:*:b

1) 1

(2) 2

(3) 3

4) 4

1[Option ID=24601] Question Description : adult_education_adult education_setl_english_q76
2[Option ID=24602]

3[Option ID=24603]
4[Option ID=24604]

Sl. No.77
QBID:146077

Arrange the Maslow’s hierarchy of needs in correct sequence

A Physiological

B. Love

C. Self-actualization
D. Self-esteems

E. Safety

Choose the correct answer from the options given below :

.C-A-B-D-E
2Z2E-B-A-C-D
JC-D-E-B-A
4 A-E-B-D-C
(1) 1
(2) 2
3) 3
(4) 4




NGl B < MaRgHdl & ST B et HH § Jaiford Sifoy :
A. &gt

B.UH
C. W UTH BRI
D. 3T IHH
E. GR&f

i fau U fased! § O Uel 3R &1 904 HIW
1.C-A-B-D-E
2 BB - C=D
36D EB-BA
4. A-E-B-D-C

1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=24605] Question Description : adult_education_adult education_setl_english_q77
2[Option ID=24606]
3[Option ID=24607]
4[Option ID=24608]

Sl. No.78
QBID:146078

Arrange the steps of action research in correct order of sequence.

A. Observation

B. Action Planning

C. Problem

D. Execution of action plan
E. Evaluation

Choose the correct answer from the options given below :

LA B
2 B A-BeD
3. C—A-B-D-E
4 B-A-C-D-E
1) 1
(2) 2
3) 3
(4) 4
feh ATt STHUT & =RUMN & ST DI Hal T H FIfGrd HIfoIY -
A. T
B. ® Aol
C. qHET
D. BT Tie1 &1 fharag-
E. Hedio
il f4u U fasedi O § 98! SR &1 994 Bl -

1[Option ID=24609] Question Description : adult_education_adult education_setl_english_q78
2[Option ID=24610]




3[Option ID=24611]
4[Option ID=24612]

Sl. No.79
QBID:146079

Arrange the steps of model of learning (Jarvis 1987) in correct sequence.

A. Situation

B. Evaluation

C. Re-inforced but relatively unchanged
D. Person

E. Practice experimentation

Choose the correct answer from the options given below :

b —

= w

(1) 1
(2) 2
(3) 3
(4) 4

ST & AISd (STdY 1987) P 90N &I Ul HH H YaIfod I -
A faifa

B. Teio

C. gaierd W SHUadd uRafdd
D. &fad

E. [ohurd® Smam

< feu U f[dsedl O ¥ Hel 3R &1 99 Bl ;

1[Option ID=24613] Question Description : adult_education_adult education_setl1_english_q79
2[Option ID=24614]
3[Option ID=24615]
4[Option ID=24616]

Sl. No.80
QBID:146080

Arrange the reverse learning cycle of the ego in correct sequence.

A. Discrimination
B. Intuition

C. Emotion

D. Action

Choose the correct answer from the options given below :

1.D-B-A-C
2C-B-A-D
3.B-C-D-A
4 A-D-C-B

(1) 1

(2) 2

(3) 3

(4) 4




38 & IohAul AT 9% B Tol wH H JaIford SISl

A. faveq
B. 3{dg

C. TIHa
D. &

i feu U fasedl T O I8! 3R &1 99 Bt -
1.D-B-A-C
22 C-B-A-D
3. B-C-D-A
4 A-D-C-B

(1) 1

) 2

(3) 3

(4) 4

1[Option ID=24617] Question Description : adult_education_adult education_setl_english_q80
2[Option ID=24618]
3[Option ID=24619]
4[Option ID=24620]

Sl. No.81
QBID:146081

Arrange the stages of cognitive development in correct sequence.

A. Intuitive

B. Pre-operational thought

C. Formal operational thinking
D. Sensori-motor

E. Concrete operations

Choose the correct answer from the options given below :

IJ.—~
cﬁU:bm

2D B-
-E- C-
-B- E—
=i B-

UOUD'»

C-
B-
A-
A—

=

(1) 1
(2) 2
(3) 3
(4) 4

TYHETES [AHT & 9l &l Yol hH H YUiford S|

A TH

B. He-gd [daR

c. Jr=niie dfrareTs R
D. ¥dal-WRF

E. Tl: UEeH

- faw e foment & 9 Het SR &1 997 DI -

. E-B-C-D
3D-B-A-E-C
4. C-E-A-B-D
1)1
(2) 2
(3) 3
4) 4
1[Option ID=24621] Question Description : adult_education_adult education_setl_english_q81

2[Option ID=24622]




3[Option ID=24623]
4[Option ID=24624]

Sl. No.82
QBID:146082

Arrange the aspects of curriculum development in correct sequence.

A. Educational experiences

B. Evaluation

C. Defining priorities

D. Organising Learning Experiences
E. Defining educational purposes

Choose the correct answer from the options given below :

1. D-A-E-C-B
2E-A-D-C-B
33JE-C-A-D-B
4 B-A-E-C-D

(1) 1

(2) 2

(3) 3

(4) 4

TRl fah & Ugil &1 Hel ovH § Jalford i -

A UMew sgva
B. gedidA
C. wrufiear FfRor

D. fETH FIHal T Jale
E. RM1&e TaiorH] &1 HeiRor

=i fau U fadhedl H § el 3TR &1 98- BIfolu :

1[Option ID=24625] Question Description : adult_education_adult education_setl_english_q82
2[Option ID=24626]
3[Option ID=24627]
4[Option ID=24628]

Sl. No.83
QBID:146083

Arrange a reflex arc in correct sequence.

A.Tdea

B. Sensory
C. Action
D. Stimulus
E. Reflex

Choose the correct answer from the options given below :

1.D-C-B-A-E
2D-B-C-E-A
3.3 B-D-A-C-E
4A-D-B-C-E

(1) 1

(2) 2

(3) 3




widad =19 1 Hel B H H HaIToid BIfoy

A fdOR
B. Hdel
C. o

D. JeigA
E. ufaad

- fau TTg famed! H T Te! SR &1 98- DI -

LDU:'UU
UUU:'O

A—
E-
O
Cc-

['rj['ﬂ:l-'»t‘r‘l

-B-
-C-
—-A—
-B-

R

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=24629] Question Description : adult_education_adult education_setl_english_q83
2[Option ID=24630]

3[Option ID=24631]
4[Option ID=24632]
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Arrange process of inquiry in correct sequence.

A Intellectualization of definition of the problem
B. Reasoning

C. Testing the hypothesis in action

D. Inquiry into the condition of the situation

E. Disruption and uncertainty

Choose the correct answer from the options given below :

1.E-A-D-B-C
2 C-D-A-E-B
3:B~E—C=-A~-D
4.D-B-E-C-A

1) 1

(2) 2

(3) 3

(4) 4

gSdIs Uichal &l ¥gl shH H Faiford S|
A.ﬁWWWGﬁTHﬁW
B.

C. B H uRP g1 BT ulieon
D. ffd @1 g & R ¥ ggdi®
E. [d9eq ud aifafgaa

i fSu U f[asedl O ¥ Ul 3R &1 99 B :

1.E-A-D-B-C
2.C-D-A-E-B
3B-E-C-A-D
4 D-B-E-C-A
1)1
(2) 2
(3) 3
4) 4
1[Option ID=24633] Question Description : adult_education_adult education_set1_english_q84

2[Option ID=24634]




3[Option ID=24635]
4[Option ID=24636]
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Bateson’s theory of learning and communication is based on the capacity of the living organism to grasp and
transform information about its environment. They are :

A. Our body registers some differences, not all of them

B. Change in quantity or the quality of one’s response, drawn from a given set of alternatives
C. Is a change in the set of alternatives

D. Entails a transformation of our way of setting alternatives

E. Individual learning isolated from contexts.

Choose the correct answer from the options given below :

. A, B.Donly
A, C.Donly
A.B.C.D only
.A.B.C.E only
(1) 1

(2) 2

3) 3

(4) 4

=

R

STHT T LT SR I RIgid oidd Sild &1 58 aaraRyl & a5 Ja41 &1 GHgH 3R uidid
P Bl AT R AURIRI TR -

A. BRI TRR S URad-l &1 sififened (RIseR) Bl 6. I 94 o1 7511

B. f&U U [qpeu-94g ¥ U Sl oufekd &1 Sffehar &1 U1 a1 T[uradl § URad g
c. fg@en v & te uRad9 81

D. fa@eg uRU & AR T8% & =UdRUI & [T 31aRg® g

E. ¥ T e faean a1 sfaarTa S|

i 4u U fasedl O 1 98! Sux o1 994 Pilolu :

1. A.B,Donly
2.A,C,Donly
3.A.B.C.Donly
4. A.B.C.E only
(1) 1
2) 2
(3) 3
(4) 4
1[Option ID=24637] Question Description : adult_education_adult education_setl_english_q85
2[Option ID=24638]

3[Option ID=24639]
4[Option ID=24640]
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Given below are two statements :

StatementI : Higher Education is gradually becoming more open and flexible.

Statement II  : It has to be more accessible to adults.

In the light of the above statements. choose the correct answer from the options given below :

. Both Statement I and Statement I are correct

. Both Statement I and Statement II are incorrect
3. Statement I is correct but Statement IT is incorrect
4. Statement I is incorrect but Statement II is correct

(1) 1

(2) 2

(3) 3

(4) 4

b —




e Al Py RU U E

DY 1 : I 120871 hi0eb =4 U Geil 3R Asidll a1l ol <61 6|

DY 11 : Ug 90%h1 & faU 3ifeie ug=-aivg gl 91ig U]

TR HY D el H, 7= U MY fahedi § 964 Iugd IR DI 98- BIIL :

1. PYTI AR M SHT A &
2. PYTI R I EFT 3T 8
3. HYF 190 §, dfth HY 11 39T &
4 FYFI I L. AfFAHFUA I Ia
(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=24641] Question Description : adult_education_adult education_set1_english_q86
2[Option ID=24642]
3[Option ID=24643]
4[Option ID=24644]
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Given below are two statements :

StatementI : Computers not only aid in calculations, but store enormous amounts of information that can
be retrieved.
StatementII : Not only can the computers handle text but they are now capable of processing audio and

video technologies to enable convergence of different forms of media on one platform.
In the light of the above statements, choose the correct answer from the options given below :

1. Both Statement I and Statement II are true
2. Both Statement I and Statement II are false
3. Statement I is true but Statement IT is false
4. Statement I is false but Statement II is true

(1) 1

(2) 2

3) 3

(4) 4

g eyfeumg .

DY T : SR A had YRDa! H TSl D ©, e a1 B 39 fa=ira JE1 &1 Hf 181d ad &,
(ST QA fdoaT & el 5

TYA 11 : HICR A Had U186 (CHRC) BT Y& B Gl § Sieeh d 36 T o] ©iehH IR Hifsar & fird
Ui & R (G-aord) B Tl 89 & forg SfifSar ik difsa wenfiie! &1 iR oxa o o g §

SR HY & 3HTaiie H, -1 U ML fahedl ¥ O Tad Sugd IR DI 98- BT :

1. PYTI R M EHT T &
2. PYTI AR EFT 3T s
3. BYF 190 §, Afth HY 11 39T &
4 FYFEIITI L. AP FUHI T I &
(1) 1
2) 2
3) 3
(4) 4

1[Option ID=24645] Question Description : adult_education_adult education_set1_english_q87
2[Option ID=24646]
3[Option ID=24647]
4[Option ID=24648]
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Given below are two statements :

StatementI : Learning experience refers to the interaction between the learner and the external conditions
in the environment to which he/she can react.
Statement II : The learning experience is through the manipulations of the environment in such a way as to

set up stimulating situation.
In the light of the above statements, choose the correct answer from the options given below :

1. Both Statement I and Statement II are correct
2. Both Statement I and Statement II are incorrect
3. Statement I is correct but Statement II is incorrect
4. Statement I is incorrect but Statement I is correct
1) 1
(2) 2
3) 3
(4) 4

BT : SHTERTH BT SiTHa Rl 3R 99 ardrexvr H s Rl & & yReaRe fohan &1 wafiid e
2. foraT o ufafsrr = gedraed 2|

Y1 :%Wﬁ%?-ﬁb?a?m‘iﬂﬂ@i SHERTH &7 UG U UH axieT g, fore Se o f&ufa [fda
CARSIGIG]
TR HYT D el H, 7= U MY f[dhed # 4 Tad TUgH IR DI 98- HIIL ;

1. PYTI AR M SHI I &
2. BYTI R I EFT 3T g
3. HYF 190 ©, Al HY 11 3T 8
4 FYFEI IR, AP FYI I I &
(1) 1
(2) 2
3) 3
(4) 4

1[Option ID=24649] Question Description : adult_education_adult education_set1_english_q88
2[Option ID=24650]
3[Option ID=24651]
4[Option ID=24652]

Sl. No.89
QBID:146089

Given below are two statements : One is labelled as Assertion A and the other is labelled as Reason R.
Assertion A ;. According to Wallach and Kogan creativity and intelligence are two clear methods of thinking.
Reason R : There is sufficient correlation between creative task and test of Intelligence while there is no
sufficient correlation between test of creativity and Intelligence.

In the light of the above statements. choose the most appropriate answer from the options given below :

. Both A and R are correct and R is the correct explanation of A

. Both A and R are correct but R is NOT the correct explanation of A
. A is correct but (R) is not correct

A is not correct but (R) is correct

R

(1) 1
(2) 2
(3) 3
(4) 4




4 3 B AU U § : U &Y (Assertion A) & =9 I [RAd 8 ol RT3 BRI (Resason R) P

U
YT A : 3P IR FTE F IR JoTeredl 3R g a7 @1 <1 =y Bfimi )

PRI R : JIIES TR 3R IfE S Tev1 & o9 vala gg-9dy 8, Safes gorraasdr & giemn ik
gf< & o PIs qaie 5-3eY 761 gil|

SURIEI FUH & 3{dP 1, A1d [GU 7T [dhed| T I To! IR &1 994 B 1ol -

A SRR EH T8I § IR R, AP Ig AT ©

A 3R R 31 eI €, AT R, A T W€l A g
AR, Al R g e &

ATE TR AP R TSI B

i

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=24653] Question Description : adult_education_adult education_setl_english_q89
2[Option ID=24654]

3[Option ID=24655]
4[Option ID=24656]

Sl. No.90
QBID:146090

Given below are two statements : One is labelled as Assertion A and the other is labelled as Reason R.
Assertion A. :  During the communication process, the receiver is disturbed and not in a proper frame of mind

to receive the message.
Reason (R) : Mental turbulence refers to the confusion in the mind of receiver.
In the light of the above statements, choose the most appropriate answer from the options given below :

1. Both A and R are correct and R is the correct explanation of A
2. Both A and R are correct but R is NOT the correct explanation of A
3. A s correct but R is not correct
4. A is not correct but R is correct
1)1
2) 2
(3) 3
(4) 4

:ﬁﬁa“lwﬁtzﬂn% . U HHUF (Assertion A) P &Y U [ARIA g dl GO 3Hb HRUI Reason R) P

B’Ia{;wm A ; TEINUT UfHA1 & SR TTR! S207d i1 8 SR U™ &t Wit & Us wgfd 5w § =gl
|

PR R : OGS [Feiy a8l & 9 § yo & Jefifd aedr el
SWRIgd HYF & el H, 1 AU MU fahedi § 4 999 SUgdd IR D1 90 HIfoly :

A 3R R G TEI € 3R R, AT T6! AT ©

A SRR G T8I €, AP R, A B! Tl TR el 8
ATEI S, AP R S ST @
AR 8, AfPT R TR

R

H

1) 1

(2) 2

(3) 3

4) 4

1[Option ID=24657] Question Description : adult_education_adult education_set1_english_q90
2[Option ID=24658]

3[Option ID=24659]
4[Option ID=24660]
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Read the following passage carefully and answer the questions that follow:

Classifying research in Extension Education of Services is inseperable from the way in which its
operationalisation in the field is organized. The field includes the act of planning. administration, material
productions training, teaching, evaluation etc. Each of there areas of specialization has a philosophical and
psychological ban, characteristic to the field of Extension Education.

Extension education and services personnel had diverse back ground but willing to carry out a ‘new
identity’ through a gradual movement from initial works based on their background and later to the specific
task at hand which has a exploratory inputs that were area specific, hence differed from one to the other
institution.

From carrying the responsibilities of awareness, delivery. evaluation etc. and state flagship programmes
there personnel slowly moved to the reform potential of such education and services in higher education.
Fafafad o1 u¢ iR = fau 1wyl & SR 2o -

TR fRref sﬁ?@ﬁéﬁ% &1 T SaTaHIdS Y 9 XY S & alic § QY GebRUl S{YYaDid g
S9% § XY BRI HYUFD T © | 59 P & H P FIo1, U, Tt Sare, e, e,
I %rr%aﬁﬁﬂ%l foaR e & wde &3 3 fagivar & e SR Tiawe SR iR

4N § |

fawar 11 ud Ta1 I Uey w1t fafay guyft & 3 wig 317 1% gear Aitd o1 o) sorifa o
3ol g YA & STUR TR 3R Dl I P2 BRd §UEIE H I [AIRIY H1af & 3aeR e W Ak
WWWW[ o1l S U G SRIHT & fafwan v @1

I St B Hl § SrTeddl, Sa1 Herqift, Jeie ofe Jarsii & IRarfdd &1 Hdgd § de g
piftien! = T v & U= R ok Yarsil & wHiad GUR B 3k SRR g

What could be inferred from the text about extension education and services research?

1. Tt grew in several direction
2. It ended with delivery of the programme
3. It resolved to acquire excellence
4. It suffered from the fund scarcity
(1) 1
2) 2
(3) 3
(4) 4

e e 3iR Jar Sy T a1 312 81 ol 82

1. U8 3 famnsi § afifa gan

2. 98 BIHH O Ve a® Hi1Hd <6l

3. 39 Iyl Hfold DR Bl Haved o
4. 59+ faf9 sroaicaanavTe T % Tai

(1)
(2)
(3)
(4)

A W N B

1[Option ID=24661] Question Description : adult_education_adult education_setl_english_q91
2[Option ID=24662]
3[Option ID=24663]
4[Option ID=24664]
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Read the following passage carefully and answer the questions that follow:

Classifying research in Extension Education of Services is inseperable from the way in which its
operationalisation in the field is organized. The field includes the act of planning. administration, material
productions training, teaching, evaluation etc. Each of there areas of specialization has a philosophical and
psychological ban, characteristic to the field of Extension Education.

Extension education and services personnel had diverse back ground but willing to carry out a ‘new
identity’ through a gradual movement from initial works based on their background and later to the specific
task at hand which has a exploratory inputs that were area specific, hence differed from one to the other
institution.

From carrying the responsibilities of awareness, delivery. evaluation etc. and state flagship programmes
there personnel slowly moved to the reform potential of such education and services in higher education.
Fafafad o1 u¢ iR = fau 1wyl & SR 2o -

TR fref sﬁ?@ﬁ@ﬁ% &1 T HETaHIdS U 9 XY S & adic § QY GebRul SYYaDid g
S9% I XY BRI HYUFD I & | 59 P & H P T, U, Tt Sare, e, e,
T %rr%aﬁﬁﬂ%l o e & udie a7 § Agvar & e SR R aeR o

aRVAT €|

o fR1& vd Ja1 ¥ day F1itie [afay g9yl & 4 IRg 3514 15 JodH Hiid ®3- @i seomRied 9
3ol g YA & STUR TR 3R Dl I P2 BRd §UEIE H I [AIRIY H1af & 3aeR e W Ak
fﬂﬁfﬁﬁﬂﬂﬁﬁ?ﬂﬂ o1l S U g SRHT & fafwen v @1

I St Bl § S dl, Y1 Herdit, eaie ofe Jarsii & IwRardd &1 Hdgd § de g
piftien! = T v & U= R ok Yarsil & wHiad GUR B 3k SRR g

What prevented extension education and services personnel from pursuing dedicated researches?

1. Focus on service condition
2. Focus on service areas
3. Lack of incentive
4. Diverse background of personnel
(1) 1
2) 2
3) 3
(4) 4

foar faeam 3R Yar el &1 gafid iy o & gar arend b

1. TG R BiHY
2. Hal &l R By
3. WicTe &I 3{H[E
4. ®1H®! 31 [afay gyyH

(1) 1
(2) 2
3) 3
(4) 4

1[Option ID=24665] Question Description : adult_education_adult education_setl_english_q92
2[Option ID=24666]
3[Option ID=24667]
4[Option ID=24668]
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Read the following passage carefully and answer the questions that follow:

Classifying research in Extension Education of Services is inseperable from the way in which its
operationalisation in the field is organized. The field includes the act of planning. administration, material
productions training, teaching, evaluation etc. Each of there areas of specialization has a philosophical and
psychological ban, characteristic to the field of Extension Education.

Extension education and services personnel had diverse back ground but willing to carry out a ‘new
identity’ through a gradual movement from initial works based on their background and later to the specific
task at hand which has a exploratory inputs that were area specific, hence differed from one to the other
institution.

From carrying the responsibilities of awareness, delivery. evaluation etc. and state flagship programmes
there personnel slowly moved to the reform potential of such education and services in higher education.

fgfafad o1 u¢ ok i f3u 78 uel & 3w <iforg .-

ﬁlﬂﬁﬁh&ﬂsﬁ?@me{f‘f?ﬁﬁﬁ@mmwﬁ&ﬁaaw%aﬂ%@qﬂﬂmﬁmwaquqqﬂu%l
S9% I XY BRI HYUFD I & | 59 P & H P T, U, Tt Sare, e, e,
Wgﬂ%ﬂﬁﬁﬂ%lﬁﬁﬁﬁﬁ%ﬂ@ﬁ%ﬁﬁﬁﬁ%%ﬁﬁﬁ@ﬁ?ﬂ?ﬁmwww
foRiyan g1

o fR1& vd Ja1 ¥ day F1itie [afay g9yl & 4 IRg 3514 15 JodH Hiid ®3- @i seomRied 9
3ol g YA & STUR TR 3R Dl I P2 BRd §UEIE H I [AIRIY H1af & 3aeR e W Ak
WWﬁmﬁm[ﬁﬁw@iWﬁmmﬁ

I St Bl § S dl, Y1 Herdit, eaie ofe Jarsii & IwRardd &1 Hdgd § de g
piftien! = T v & U= R ok Yarsil & wHiad GUR B 3k SRR g

Diversity of research areas among extension functional can help

Asvareness activities
Institutionalize these unit
New initiations of reform
Prevent reform

it e

(1) 1
(2) 2
(3) 3
(4) 4

fawTR Bl & st 2y & 31 fafded 3 gemd s -

1. SRl Tfdfaferai
2. 51 TSl BT GRIFHSH0T
3. YR &1 g Ugd
4. QYR T q147 ST
1)1
2) 2
(3) 3
(4) 4
1[Option ID=24669] Question Description : adult_education_adult education_setl_english_q93
2[Option ID=24670]

3[Option ID=24671]
4[Option ID=24672]
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Read the following passage carefully and answer the questions that follow:

Classifying research in Extension Education of Services is inseperable from the way in which its
operationalisation in the field is organized. The field includes the act of planning. administration, material
productions training, teaching, evaluation etc. Each of there areas of specialization has a philosophical and
psychological ban, characteristic to the field of Extension Education.

Extension education and services personnel had diverse back ground but willing to carry out a ‘new
identity’ through a gradual movement from initial works based on their background and later to the specific
task at hand which has a exploratory inputs that were area specific, hence differed from one to the other
institution.

From carrying the responsibilities of awareness, delivery. evaluation etc. and state flagship programmes
there personnel slowly moved to the reform potential of such education and services in higher education.

fgfafad o1 u¢ ok i f3u 78 uel & 3w <iforg .-

ﬁlﬂﬁﬁh&ﬂsﬁ?@me{f‘f?ﬁﬁﬁ@mmwﬁ&ﬁaaw%aﬂ%@qﬂﬂmﬁmwaquqqﬂu%l
S9% I XY BRI HYUFD I & | 59 P & H P T, U, Tt Sare, e, e,
Wgﬂ%ﬂﬁﬁﬂ%lﬁﬁﬁﬁﬁ%ﬂ@ﬁ%ﬁﬁﬁﬁ%%ﬁﬁﬁ@ﬁ?ﬂ?ﬁmwww
foRiyan g1

o fR1& vd Ja1 ¥ day F1itie [afay g9yl & 4 IRg 3514 15 JodH Hiid ®3- @i seomRied 9
3ol g YA & STUR TR 3R Dl I P2 BRd §UEIE H I [AIRIY H1af & 3aeR e W Ak
WWﬁmﬁm[ﬁﬁw@iWﬁmmﬁ

I St Bl § S dl, Y1 Herdit, eaie ofe Jarsii & IwRardd &1 Hdgd § de g
piftien! = T v & U= R ok Yarsil & wHiad GUR B 3k SRR g

As per the text from ‘initial works’ to ‘specific tasks’ means

There is a change in programme

There is growth from ‘general to specific’
There is growth from specific to general
There is no exploration

-l e

(1) 1
(2) 2
3) 3
(4) 4

TR & 3R <3RS &1 4 [y o ¥ fimm g

1. S H ufkad= gan g
2. 9T ¥ Ty &1 SR dad= gan
3. Taflry ¥ 9y S 3R Hae g3 gl
4. 3HD] DI TP e

(1) 1

(2) 2

3) 3

(4) 4

1[Option ID=24673] Question Description : adult_education_adult education_set1_english_q94
2[Option ID=24674]
3[Option ID=24675]
4[Option ID=24676]
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Read the following passage carefully and answer the questions that follow:

Classifying research in Extension Education of Services is inseperable from the way in which its
operationalisation in the field is organized. The field includes the act of planning. administration, material
productions training, teaching, evaluation etc. Each of there areas of specialization has a philosophical and
psychological ban, characteristic to the field of Extension Education.

Extension education and services personnel had diverse back ground but willing to carry out a ‘new
identity’ through a gradual movement from initial works based on their background and later to the specific
task at hand which has a exploratory inputs that were area specific, hence differed from one to the other
institution.

From carrying the responsibilities of awareness, delivery. evaluation etc. and state flagship programmes
there personnel slowly moved to the reform potential of such education and services in higher education.
Fafafad o1 u¢ iR = fau 1wyl & SR 2o -

TR fref sﬁ?@ﬁ@ﬁ% &1 T HETaHIdS U 9 XY S & adic § QY GebRul SYYaDid g
S9% I XY BRI HYUFD I & | 59 P & H P T, U, Tt Sare, e, e,
T %rr%aﬁﬁﬂ%l o e & udie a7 § Agvar & e SR R aeR o

aRVAT €|

o fR1& vd Ja1 ¥ day F1itie [afay g9yl & 4 IRg 3514 15 JodH Hiid ®3- @i seomRied 9
3ol g YA & STUR TR 3R Dl I P2 BRd §UEIE H I [AIRIY H1af & 3aeR e W Ak
Sl B FwreH (a7 o 9% U g SR ¥ falRydr uaH &1

I St Bl § S dl, Y1 Herdit, eaie ofe Jarsii & IwRardd &1 Hdgd § de g
B! = Fod e § UH e ok Jarefl § guifdd GuR &1 3R SFRR gul

Which of the following activities of extension education and services could be considered as part of the state
flagship programmes?

1. Adult Basie Literacy
2. Vocational Education
3. Population Studies
4. All of the above

1) 1

(2) 2

(3) 3

4) 4

frgfafaa & T sl srdes & Y & =9 § [GaR e 3R Sarsif ot nfafafemt s g2

1. Wi 3RIue Terdn
2. SEaifae f2rem
3. OS] ST

4. Fuged gl

1)
(2)
(3)
(4)

A W N B

1[Option ID=24677] Question Description : adult_education_adult education_setl_english_q95
2[Option ID=24678]
3[Option ID=24679]
4[Option ID=24680]
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Read the following passage carefully and answer the questions that follow:

Understood as the mastering of linguistie rules, literacy can be treated as a social variable that exists
independently of any particular individual, society or cultural tradition - people ‘acquire’ literacy or perhaps
more accurately it is brought to them. Literacy introduced into a community can thus potentially transform it,
again in ‘predictable ways’. The transformation is one-way, from literacy onto society - the ability to read and
write alters how people think. Such accounts exclude the possibility that the apparent effects of literacy might
emerge as part of a more dynamic and interactive process; in otherwords, that what it means to be literate can
be contested and recreated as people exploit written texts to make meanings that have local relevance instead,
literacy is seen as the agent for change and people and positioned as passive recipients.

If literacy is posted as an external and predictable variable then the realization of literacy in any one society
can be identified, compared and evaluated according to objective benchmarks. Based on it one assumes that
phonetic writing system represent the culmination of historical programs from pictography through
logography and finally to alphabets with one sound-symbol correspondence.
frafarad @1 9¢ SR == fau 78 wei & IR 2o .-

YT gl @ Udl=dl & &4 § U @ 91d1. F1&7dl U IrETfuid =92 ¢ wife fedt +ff gmfore
idd, U1 TP laes YRIRT Y Fa-d gidl & - AT I&Rd] B Wi a1 dgok Ysg| § 48 91 b 3l g
fopeit ot Ie O WaRdI Wa¥ Sl &, SR 98 ¥ THaN $I I a1d! 5, fordl O 89 &g 9dd & 15
SHHT foban o a8 | I8 uRad tehd Irrf?f@ﬂlj% IR S GHIS T - feRg- 3R Ug- & g&ial
TR & T Pl gHIEd Bl o1 U8 gard 37 JuTa-1ed Bl dfed Hd & [ g8 udl 9adl ¢ [ I&Rdl
& JHId I U TRl o URERS rareiial wican 3 gidl ©; 30 Wsal H, T8 & War 515 & s o
A &1 & Gl & Ud 3901 YH3mIG 39 aiich o Hi 51 Jebdl & oIal al [aRIa-uray i @1 il
T Urfiadl <@d 8, oiafd WIeRdl &1 95dld & oiNT & =0 § & @1 oidl g SR A & ifehy uraardl &
EUH|

fE WeRAT &1 9181 Ta AT =R & 9 § wiftd o o o, wneRar Bt wam J ity ¢ ugr,
eI, @ Gedich Jexalele ATUGUS] TR Bldl ¢ | 59 YR TR 51 949 ¢ [ @del® ohe- a-.,
TeETET® A1e9H ¥ B gU AiaeTa® SR S99 311 & forfd & [doad o &1 ulfage wifd & aikgul
Bl g 98l @ 3R Fog & HYH dARA B

‘Predictable ways’ in the text relates to

. Pagsivity

. Transformation

. Cultural traditions

. Individual preferences

L

iy

(1) 1
(2) 2
(3) 3
(4) 4

gTad o U i aTed <SFHEIAT SUTdl 6T e §

1[Option ID=24681] Question Description : adult_education_adult education_setl_english_q96
2[Option ID=24682]
3[Option ID=24683]
4[Option ID=24684]

Sl. No.97
QBID:146097




Read the following passage carefully and answer the questions that follow:

Understood as the mastering of linguistie rules, literacy can be treated as a social variable that exists
independently of any particular individual, society or cultural tradition - people ‘acquire’ literacy or perhaps
more accurately it is brought to them. Literacy introduced into a community can thus potentially transform it,
again in ‘predictable ways’. The transformation is one-way, from literacy onto society - the ability to read and
write alters how people think. Such accounts exclude the possibility that the apparent effects of literacy might
emerge as part of a more dynamic and interactive process; in otherwords, that what it means to be literate can
be contested and recreated as people exploit written texts to make meanings that have local relevance instead,
literacy is seen as the agent for change and people and positioned as passive recipients.

If literacy is posted as an external and predictable variable then the realization of literacy in any one society
can be identified, compared and evaluated according to objective benchmarks. Based on it one assumes that
phonetic writing system represent the culmination of historical programs from pictography through
logography and finally to alphabets with one sound-symbol correspondence.
frafarad @1 9¢ SR == fau 78 wei & IR 2o .-

YT gl @ Udl=dl & &4 § U @ 91d1. F1&7dl U IrETfuid =92 ¢ wife fedt +ff gmfore
idd, U1 TP laes YRIRT Y Fa-d gidl & - AT I&Rd] B Wi a1 dgok Ysg| § 48 91 b 3l g
fopeit ot Ie O WaRdI Wa¥ Sl &, SR 98 ¥ THaN $I I a1d! 5, fordl O 89 &g 9dd & 15
SHHT foban o a8 | I8 uRad tehd Irrf?f@ﬂlj% IR S GHIS T - feRg- 3R Ug- & g&ial
TR & T Pl gHIEd Bl o1 U8 gard 37 JuTa-1ed Bl dfed Hd & [ g8 udl 9adl ¢ [ I&Rdl
& JHId I U TRl o URERS rareiial wican 3 gidl ©; 30 Wsal H, T8 & War 515 & s o
A &1 & Gl & Ud 3901 YH3mIG 39 aiich o Hi 51 Jebdl & oIal al [aRIa-uray i @1 il
T Urfiadl <@d 8, oiafd WIeRdl &1 95dld & oiNT & =0 § & @1 oidl g SR A & ifehy uraardl &
EUH|

fE WeRAT &1 9181 Ta AT =R & 9 § wiftd o o o, wneRar Bt wam J ity ¢ ugr,
eI, @ Gedich Jexalele ATUGUS] TR Bldl ¢ | 59 YR TR 51 949 ¢ [ @del® ohe- a-.,
TeETET® A1e9H ¥ B gU AiaeTa® SR S99 311 & forfd & [doad o &1 ulfage wifd & aikgul
Bl g 98l @ 3R Fog & HYH dARA B

Literacy, as per the text, has potential to

. Alter how people behave

. Alter how people think

. Alter how people grow

. Alter how people manipulate

e

(1) 1
(2) 2
3) 3
(4) 4

U160 & SIER, &Rl A FHIfad far g |

1. TI7T & SJGeR 34 & o] § §&aid
2. T & II9- & d3i@] & 95
3. @1 A& [T UHR & § 394 deaid
4. QN1 & Bd DR & arlD| ] Iaald
(1 1
) 2
3) 3
(4) 4

1[Option ID=24685] Question Description : adult_education_adult education_setl_english_q97
2[Option ID=24686]
3[Option ID=24687]
4[Option ID=24688]

Sl. No.98
QBID:146098




Read the following passage carefully and answer the questions that follow:

Understood as the mastering of linguistie rules, literacy can be treated as a social variable that exists
independently of any particular individual, society or cultural tradition - people ‘acquire’ literacy or perhaps
more accurately it is brought to them. Literacy introduced into a community can thus potentially transform it,
again in ‘predictable ways’. The transformation is one-way, from literacy onto society - the ability to read and
write alters how people think. Such accounts exclude the possibility that the apparent effects of literacy might
emerge as part of a more dynamic and interactive process; in otherwords, that what it means to be literate can
be contested and recreated as people exploit written texts to make meanings that have local relevance instead,
literacy is seen as the agent for change and people and positioned as passive recipients.

If literacy is posted as an external and predictable variable then the realization of literacy in any one society
can be identified, compared and evaluated according to objective benchmarks. Based on it one assumes that
phonetic writing system represent the culmination of historical programs from pictography through
logography and finally to alphabets with one sound-symbol correspondence.

Fafeiad @1 9¢ SR =il fau 71wyl & IR Sifor -

YT gl @ Udl=dl & &4 § U @ 91d1. F1&7dl U IrETfuid =92 ¢ wife fedt +ff gmfore
idd, U1 TP laes YRIRT Y Fa-d gidl & - AT I&Rd] B Wi a1 dgok Ysg| § 48 91 b 3l g
fopeit ot Ie O WaRdI Wa¥ Sl &, SR 98 ¥ THaN $I I a1d! 5, fordl O 89 &g 9dd & 15
SHHT foban o a8 | I8 uRad tehd Hﬂﬁ@ﬂli%,wmﬁ TS I - feRaq 3R Ue o1 gerd
TR & T Pl gHIEd Bl o1 U8 gard 37 JuTa-1ed Bl dfed Hd & [ g8 udl 9adl ¢ [ I&Rdl
P WHIG I TP L @ IREIRS hamiid Wiedr SRBY Bidl &; 3 Usal 4, 76 [ WieR o1 & 3 @
A &1 & Gl & Ud 3901 YH3mIG 39 aiich o Hi 51 Jebdl & oIal al [aRIa-uray i @1 il
T Urfiadl <@d 8, oiafd WIeRdl &1 95dld & oiNT & =0 § & @1 oidl g SR A & ifehy uraardl &
Fq |

fE WeRAT &1 9181 Ta AT =R & 9 § wiftd o o o, wneRar Bt wam J ity ¢ ugr,
qo1, @ edia JeRalet® AT9aUs| UR 8ld o | 59 YR W 81 99d ¢ b Hadel® e a-d,
TeETET® A1e9H ¥ B gU AiaeTa® SR S99 311 & forfd & [doad o &1 ulfage wifd & aikgul
Fdl © oigl i 3R g & A9 aRad Bl

What 1s true about alphabets as per the text?

1. It was transposed by the linguists
2. It has grown to one sound one symbol
3. It continues to interchange with pictograph
4. Logograph and pictograph has no connection with alphabet
1) 1
2) 2
3) 3
(4) 4

U1 o SIYR [0l & 9N H 9 1 82

1. 98 HTuTfaa] g anfed 8 |
2. U8 UP @l Ud a5 & =9 1 [deiad gar g
3. g Tl 1 fq=uTitd v & |
4. Tt iR ufdes! &7 forfiai @ ©is g gl gl
1)1
(2) 2
(3) 3
4) 4
1[Option ID=24689] Question Description : adult_education_adult education_setl_english_q98
2[Option ID=24690]

3[Option ID=24691]
4[Option ID=24692]

Sl. No.99
QBID:146099




Read the following passage carefully and answer the questions that follow:

Understood as the mastering of linguistie rules, literacy can be treated as a social variable that exists
independently of any particular individual, society or cultural tradition - people ‘acquire’ literacy or perhaps
more accurately it is brought to them. Literacy introduced into a community can thus potentially transform it,
again in ‘predictable ways’. The transformation is one-way, from literacy onto society - the ability to read and
write alters how people think. Such accounts exclude the possibility that the apparent effects of literacy might
emerge as part of a more dynamic and interactive process; in otherwords, that what it means to be literate can
be contested and recreated as people exploit written texts to make meanings that have local relevance instead,
literacy is seen as the agent for change and people and positioned as passive recipients.

If literacy is posted as an external and predictable variable then the realization of literacy in any one society
can be identified, compared and evaluated according to objective benchmarks. Based on it one assumes that
phonetic writing system represent the culmination of historical programs from pictography through
logography and finally to alphabets with one sound-symbol correspondence.

Fafeiad @1 9¢ SR =il fau 71wyl & IR Sifor -

YT gl @ Udl=dl & &4 § U @ 91d1. F1&7dl U IrETfuid =92 ¢ wife fedt +ff gmfore
idd, U1 TP laes YRIRT Y Fa-d gidl & - AT I&Rd] B Wi a1 dgok Ysg| § 48 91 b 3l g
fopeit ot Ie O WaRdI Wa¥ Sl &, SR 98 ¥ THaN $I I a1d! 5, fordl O 89 &g 9dd & 15
SHHT foban o a8 | I8 uRad tehd Hﬂﬁ@ﬂli%,wmﬁ TS I - feRaq 3R Ue o1 gerd
TR & T Pl gHIEd Bl o1 U8 gard 37 JuTa-1ed Bl dfed Hd & [ g8 udl 9adl ¢ [ I&Rdl
P WHIG I TP L @ IREIRS hamiid Wiedr SRBY Bidl &; 3 Usal 4, 76 [ WieR o1 & 3 @
A &1 & Gl & Ud 3901 YH3mIG 39 aiich o Hi 51 Jebdl & oIal al [aRIa-uray i @1 il
T Urfiadl <@d 8, oiafd WIeRdl &1 95dld & oiNT & =0 § & @1 oidl g SR A & ifehy uraardl &
Fq |

fE WeRAT &1 9181 Ta AT =R & 9 § wiftd o o o, wneRar Bt wam J ity ¢ ugr,
qo1, @ edia JeRalet® AT9aUs| UR 8ld o | 59 YR W 81 99d ¢ b Hadel® e a-d,
TeETET® A1e9H ¥ B gU AiaeTa® SR S99 311 & forfd & [doad o &1 ulfage wifd & aikgul
Fdl © oigl i 3R g & A9 aRad Bl

It iz easy to identify. compare and evaluate literary (As per the text)

. It 1s an internal and predictable variable

. It is external and uncertain variable

. It is an external and predictable variable

. It 1s in consonance with aspirations of people

da L b2

(1) 1
(2) 2
(3) 3
(4) 4

Il BI Ug=H, a1 SR i Bl (U6d & H{IR) 3 8|

1. U8 TS e 3R Juifad TR &
2. 98 U a1l 3R g =R g1
3. U8 U% &1 3R guIfaa =R 81
4. Tg ATl Bt anefi & SFEU I

(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=24693] Question Description : adult_education_adult education_setl_english_q99
2[Option ID=24694]
3[Option ID=24695]
4[Option ID=24696]

Sl. No.100
QBID:146100




Read the following passage carefully and answer the questions that follow:

Understood as the mastering of linguistie rules, literacy can be treated as a social variable that exists
independently of any particular individual, society or cultural tradition - people ‘acquire’ literacy or perhaps
more accurately it is brought to them. Literacy introduced into a community can thus potentially transform it,
again in ‘predictable ways’. The transformation is one-way, from literacy onto society - the ability to read and
write alters how people think. Such accounts exclude the possibility that the apparent effects of literacy might
emerge as part of a more dynamic and interactive process; in otherwords, that what it means to be literate can
be contested and recreated as people exploit written texts to make meanings that have local relevance instead,
literacy is seen as the agent for change and people and positioned as passive recipients.

If literacy is posted as an external and predictable variable then the realization of literacy in any one society
can be identified, compared and evaluated according to objective benchmarks. Based on it one assumes that
phonetic writing system represent the culmination of historical programs from pictography through
logography and finally to alphabets with one sound-symbol correspondence.
frafarad @1 9¢ SR == fau 78 wei & IR 2o .-

YT gl @ Udl=dl & &4 § U @ 91d1. F1&7dl U IrETfuid =92 ¢ wife fedt +ff gmfore
idd, U1 TP laes YRIRT Y Fa-d gidl & - AT I&Rd] B Wi a1 dgok Ysg| § 48 91 b 3l g
fopeit ot Ie O WaRdI Wa¥ Sl &, SR 98 ¥ THaN $I I a1d! 5, fordl O 89 &g 9dd & 15
SHHT foban o a8 | I8 uRad tehd Irrf?f@ﬂlj% IR S GHIS T - feRg- 3R Ug- & g&ial
TR & T Pl gHIEd Bl o1 U8 gard 37 JuTa-1ed Bl dfed Hd & [ g8 udl 9adl ¢ [ I&Rdl
& JHId I U TRl o URERS rareiial wican 3 gidl ©; 30 Wsal H, T8 & War 515 & s o
A &1 & Gl & Ud 3901 YH3mIG 39 aiich o Hi 51 Jebdl & oIal al [aRIa-uray i @1 il
T Urfiadl <@d 8, oiafd WIeRdl &1 95dld & oiNT & =0 § & @1 oidl g SR A & ifehy uraardl &
EUH|

fE WeRAT &1 9181 Ta AT =R & 9 § wiftd o o o, wneRar Bt wam J ity ¢ ugr,
eI, @ Gedich Jexalele ATUGUS] TR Bldl ¢ | 59 YR TR 51 949 ¢ [ @del® ohe- a-.,
TeETET® A1e9H ¥ B gU AiaeTa® SR S99 311 & forfd & [doad o &1 ulfage wifd & aikgul
Bl g 98l @ 3R Fog & HYH dARA B

As per the text what best can be inferred from the text

1. Intended objective of ‘Literacy” is not the same for individual as well community
2. ‘Local relevance’ of Literacy achieved by individual is always compromised
3. The meaning of ‘literate’ is contested for its uniformity
4. Literacy as a process has put people at the level below the level of partners.
1) 1
2) 2
3) 3
(4) 4

UTaY & IR 9 T 8 BH 9 gaian [darR 81

&R T Tiéd S59 oiee 3R T P [og 99 ol oiall

. IR &1 WA Ufiear sifes oafdd g1 U @1 Wiid! & 98 YGd SigH 8ld §
IR Weg & Y B UHEdl B Al &l ol g

.U Ufhal & =0 H GI&RdT = Tl & IRieR] & TR & -1 & T WIG

1) 1

2) 2

3) 3

4) 4

(S

S IS

1[Option ID=24697] Question Description : adult_education_adult education_set1_english_q100
2[Option ID=24698]
3[Option ID=24699]
4[Option ID=24700]




